
Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

BRASILIA
T1>

Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

3
-1

0
1

7
0

1
4
4

Espresso machines



BREW GROUP FIRST SERIES

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1439003 i>CAP ø 18 mm FOR BREW GROUP

2 <i1186414 i>O-RING 0119 EPDM

3 <i1160501 i>WATER FILTER ø 14x10x12 mm

4 <i1500530 i>NOZZLE M5x1 HOLE ø 0.75 mm

5 <i1186652 i>COFFEE GROUP GASKET 77x51x3 mm

6 <i1184008 i>S/S SCREW M8x25 T.E.M8x25UNI5739DIN24017

7 <i1501003 i>CAP ø 1/8"M FOR BREW GROUP

9 <i1186611 i>O-RING 02025 RED SILICONE

9 <i1186612 i>O-RING 02025 VITON

10 <i1455034 i>S/S SCREW T.C.C.E.I M4x10 UNI 5931

11 <i1120101 i>3-WAY SOLENOID VALVE PARKER 115V 50/60Hz

11 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

11 <i1120335 i>3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

13 <i1449025 i>DRAIN PIPE

15 <i1184012 i>S/STEEL SCREW T.C.C.E.I. M5x10 UNI 5931

16 <i1002506 i>FILTER HOLDER COUPLING

17 <i1186655 i>O-RING 04131 EPDM

17 <i3160044 i>O-RING 03187 EPDM

18 <i3160044 i>O-RING 03187 EPDM

19 <i1186654 i>FILTER HOLDER GASKET ø 70x57x8 mm

19 <i1186656 i>FILTER HOLDER GASKET ø 67x56x6 mm

19 <i1186657 i>FILTER HOLDER GASKET ø 66x56x6 mm

19 <i1486018 i>FILTERHOLDER GASKET ø 66x56.5x5.3 mm

21 <i1081002 i>SHOWER ø 51 mm

22 <i1528501 i>S/STEEL CROSS SCREW M5x12 mm UNI 7689

23 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

26 <i1241067 i>FILTER KNOB M12

26 <i1241501 i>FILTER HOLDER HANDLE M12

27 <i1186043 i>ZINC-PLATED FLAT WASHER 16x8,5x1,6

28 <i1186058 i>S/STEEL COGGED WASHER M8 UNI 8842

29 <i1528026 i>SCREW M8x1 mm UNI 5931

31 <i1022501 i>SINGLE SPOUT ø 3/8"

31 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

32 <i1022502 i>DOUBLE SPOUT ø 3/8"

33 <i1069001 i>PLASTIC MEASURING SPOON 20 ml

34 <i1385002 i>NYLON COFFEE TAMPER ø 50/57 mm

35 <i1160251 i>1 CUP FILTER 6 g

36 <i1160252 i>2-CUP FILTER 12 GRAMS

37 <i1160335 i>1 CUP FILTER 7 g

38 <i1160337 i>2-CUP FILTER 14 GRAMS

39 <i1160339 i>BLIND FILTER

40 <i1190001 i>PAPER SEAL ø 73x59x0.8 mm

40 <i1190021 i>PAPER SEAL ø 66x58x0.8 mm

41 <i1190002 i>RUBBER SEAL ø 73x59x1 mm EPDM

44 <i1069002 i>STAINLESS STEEL MEASURING SPOON 20 ml

45 <i1384001 i>BRUSH FOR COFFEE SHOWER

46 <i1385600 i>DYNAMOMETRIC MANUAL COFFEE TAMPER ø 57mm

47 <i1384002 i>BRUSH FOR MAINTENANCE

48 <i1385053 i>ANODISED ALUMINUM TAMPER ø 58 mm

<T1

BRASILIA
T1>



BREW GROUP CENTURY-PORTOFINO

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1385002 i>NYLON COFFEE TAMPER ø 50/57 mm

2 <i1439003 i>CAP ø 18 mm FOR BREW GROUP

3 <i1186414 i>O-RING 0119 EPDM

4 <i1160501 i>WATER FILTER ø 14x10x12 mm

5 <i1500530 i>NOZZLE M5x1 HOLE ø 0.75 mm

6 <i3120034 i>FEMALE LARGE CONNECTOR

7 <i1449349 i>DRAIN FITTING ø 1/8"Fx6 mm

8 <i1349009 i>LOW NUT 1/8"

9 <i1455034 i>S/S SCREW T.C.C.E.I M4x10 UNI 5931

10 <i1186611 i>O-RING 02025 RED SILICONE

10 <i1186612 i>O-RING 02025 VITON

11 <i1120101 i>3-WAY SOLENOID VALVE PARKER 115V 50/60Hz

11 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

11 <i1120332 i>COIL LUCIFER/PARKER 220/240V 9W 50Hz

11 <i1120334 i>3-WAY MECHANICAL COMPONENT LUCIFER

11 <i1120335 i>3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

11 <i1120339 i>3-WAY MECHANICAL COMPONENT PARKER

11 <i3120032 i>COIL PARKER ZB09 9W 220/240V 50/60Hz

12 <i1186652 i>COFFEE GROUP GASKET 77x51x3 mm

13 <i1184008 i>S/S SCREW M8x25 T.E.M8x25UNI5739DIN24017

14 <i1184004 i>CAP ø 1/4"M FOR BREW GROUP

16 <i1186803 i>O-RING 02037 EPDM

17 <i1184521 i>CAP ø 1/8"M FOR BREW GROUP

18 <i1186654 i>FILTER HOLDER GASKET ø 70x57x8 mm

19 <i3160044 i>O-RING 03187 EPDM

21 <i1081002 i>SHOWER ø 51 mm

22 <i1528501 i>S/STEEL CROSS SCREW M5x12 mm UNI 7689

23 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

25 <i1022501 i>SINGLE SPOUT ø 3/8"

25 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

26 <i1022502 i>DOUBLE SPOUT ø 3/8"

28 <i1186043 i>ZINC-PLATED FLAT WASHER 16x8,5x1,6

29 <i1528026 i>SCREW M8x1 mm UNI 5931

32 <i1069001 i>PLASTIC MEASURING SPOON 20 ml

33 <i1160251 i>1 CUP FILTER 6 g

34 <i1160252 i>2-CUP FILTER 12 GRAMS

35 <i1160335 i>1 CUP FILTER 7 g

36 <i1160337 i>2-CUP FILTER 14 GRAMS

37 <i1160339 i>BLIND FILTER

38 <i1190001 i>PAPER SEAL ø 73x59x0.8 mm

38 <i1190051 i>PAPER SEAL ø 70x57x0.8 mm

42 <i1240731 i>PERMANENT MAGNET

44 <i3240410 i>MICRO SWITCH 16A 250V

52 <i1190002 i>RUBBER SEAL ø 73x59x1 mm EPDM

52 <i1190003 i>RUBBER THICKNESS ø 70x57x1 mm EPDM

53 <i1069002 i>STAINLESS STEEL MEASURING SPOON 20 ml

56 <i1385053 i>ANODISED ALUMINUM TAMPER ø 58 mm

<T1

BRASILIA
T1>



GROUP CENTURY-PORTOFINO-GRADISCA

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1439001 i>CAP ø 16 mm FOR BREW GROUP

2 <i1160517 i>WATER FILTER ø 8.5x22 mm

3 <i1186326 i>TEFLON FLAT GASKET ø 22x16x2 mm

4 <i1501522 i>NOZZLE M6x1 HOLE ø 0,75 mm

5 <i1027016 i>UPPER CHROMIUM-PLATED SLEEVE

6 <i1186328 i>TEFLON FLAT GASKET ø 35x30x2 mm

7 <i1186591 i>O-RING 0128 VITON

8 <i1250537 i>SPRING ø 14x45 mm

9 <i1523053 i>COMPLETE SPOUT VALVE

10 <i1186384 i>COFFEE GROUP GASKET 80x70x2 mm

11 <i1184009 i>STAINLESS STEEL M8x25 mm STUD

12 <i1523452 i>COMPLETE DRAIN VALVE

13 <i1250537 i>SPRING ø 14x45 mm

14 <i1027002 i>OUTLET CHROMIUM-PLATED SLEEVE

15 <i1186117 i>TEFLON FLAT GASKET ø 26x21x2 mm

16 <i1523453 i>COMPLETE DRAIN VALVE

17 <i1250515 i>SPRING ø 14x33 mm

19 <i1349537 i>DRAIN CHROMIUM-PLATED FITTING

20 <i1225002 i>CHROMIUM-PLATED CAP M6

21 <i1191022 i>CHROMIUM-PLATED CAM

22 <i1439533 i>STUFFING GLAND CHROME-PLATED FITTING

23 <i1250011 i>RUBBERPIECE LOCKING SPRING ø 14,6x21 mm

24 <i1186592 i>SPRING GUIDE BUSHING

25 <i1186312 i>EPDM FLAT GASKET ø 15.5x7.5x4 mm

26 <i1349022 i>CAMS CHROMIUM-PLATED FITTING

27 <i1184010 i>STAINLESS STEEL SCREW M6x10 UNI 9327

28 <i1186099 i>TEFLON FLAT GASKET ø 10x6x1 mm

29 <i1225004 i>MICRO CONTROL SPINDLE

30 <i1324048 i>CAM ROD FOR COFFEE GROUP

31 <i1184005 i>CAM LOCKING STAINLESS STEEL SCREW M6

32 <i1501561 i>GROUP SPRAY NOZZLE ø 30 mm M10x1

33 <i1186061 i>FILTER HOLDER GASKET ø 72.5x57x8 mm

33 <i1186622 i>FILTER HOLDER GASKET ø 71x56x8 mm

33 <i1186678 i>FILTER HOLDER GASKET ø 72x56x8.5 mm

34 <i1081016 i>SHOWER SCREEN ø 60 mm

34 <i1081116 i>SHOWER SCREEN ø 60 mm

34 <i1081516 i>SHOWER  ø 60 mm

36 <i1160251 i>1 CUP FILTER 6 g

37 <i1160252 i>2-CUP FILTER 12 GRAMS

38 <i1160339 i>BLIND FILTER

39 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

40 <i1165022 i>FILTER HOLDER COFFEE MACHINES

41 <i1241067 i>FILTER KNOB M12

41 <i1241501 i>FILTER HOLDER HANDLE M12

42 <i1022501 i>SINGLE SPOUT ø 3/8"

42 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

43 <i1022502 i>DOUBLE SPOUT ø 3/8"

44 <i1165003 i>FILTER HOLDER ASSEMBLY BRASILIA

45 <i1069001 i>PLASTIC MEASURING SPOON 20 ml

46 <i1385002 i>NYLON COFFEE TAMPER ø 50/57 mm

47 <i1385053 i>ANODISED ALUMINUM TAMPER ø 58 mm

48 <i1186508 i>COFFEE GROUP GASKET 77x73x2 mm

49 <i1069002 i>STAINLESS STEEL MEASURING SPOON 20 ml

52 <i1190001 i>PAPER SEAL ø 73x59x0.8 mm

53 <i1190002 i>RUBBER SEAL ø 73x59x1 mm EPDM

54 <i1384001 i>BRUSH FOR COFFEE SHOWER

55 <i1384002 i>BRUSH FOR MAINTENANCE

56 <i1160335 i>1 CUP FILTER 7 g

57 <i1160337 i>2-CUP FILTER 14 GRAMS

<T1

BRASILIA
T1>



GROUP CENTURY-PORTOFINO-GRADISCA

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1439003 i>CAP ø 18 mm FOR BREW GROUP

2 <i1186414 i>O-RING 0119 EPDM

3 <i1160501 i>WATER FILTER ø 14x10x12 mm

4 <i1500530 i>NOZZLE M5x1 HOLE ø 0.75 mm

5 <i1439013 i>CAP ø 1/4"M FOR BREW GROUP

6 <i1186079 i>FLAT TEFLON GASKET ø 17x13x3 mm

7 <i1184010 i>STAINLESS STEEL SCREW M6x10 UNI 9327

8 <i1186384 i>COFFEE GROUP GASKET 80x70x2 mm

9 <i1184009 i>STAINLESS STEEL M8x25 mm STUD

11 <i1120006 i>3-WAY SOLENOID VALVE ASSY 230V 50H

11 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

11 <i1120332 i>COIL LUCIFER/PARKER 220/240V 9W 50Hz

11 <i1120334 i>3-WAY MECHANICAL COMPONENT LUCIFER

11 <i1120339 i>3-WAY MECHANICAL COMPONENT PARKER

11 <i1120351 i>3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

11 <i3120032 i>COIL PARKER ZB09 9W 220/240V 50/60Hz

12 <i1186611 i>O-RING 02025 RED SILICONE

12 <i1186612 i>O-RING 02025 VITON

13 <i1439001 i>CAP ø 16 mm FOR BREW GROUP

14 <i1160517 i>WATER FILTER ø 8.5x22 mm

15 <i1186326 i>TEFLON FLAT GASKET ø 22x16x2 mm

16 <i1501522 i>NOZZLE M6x1 HOLE ø 0,75 mm

17 <i1027016 i>UPPER CHROMIUM-PLATED SLEEVE

18 <i1186328 i>TEFLON FLAT GASKET ø 35x30x2 mm

19 <i3186183 i>O-RING 0128 EPDM

20 <i1439011 i>CHROMIUM-PLATED SIDE CAP

21 <i1186328 i>TEFLON FLAT GASKET ø 35x30x2 mm

22 <i1449349 i>DRAIN FITTING ø 1/8"Fx6 mm

23 <i1455034 i>S/S SCREW T.C.C.E.I M4x10 UNI 5931

24 <i1349007 i>DRAIN CHROMIUM-PLATED FITTING

25 <i1186356 i>O-RING 03075 EPDM

26 <i1324024 i>INFUSER SPINDLE

27 <i1250548 i>INFUSION SPRING ø 11x58 mm

28 <i1186328 i>TEFLON FLAT GASKET ø 35x30x2 mm

29 <i1027018 i>OUTLET CHROMIUM-PLATED SLEEVE

31 <i1501561 i>GROUP SPRAY NOZZLE ø 30 mm M10x1

32 <i1081016 i>SHOWER SCREEN ø 60 mm

32 <i1081116 i>SHOWER SCREEN ø 60 mm

32 <i1081516 i>SHOWER  ø 60 mm

33 <i1186061 i>FILTER HOLDER GASKET ø 72.5x57x8 mm

33 <i1186622 i>FILTER HOLDER GASKET ø 71x56x8 mm

33 <i1186678 i>FILTER HOLDER GASKET ø 72x56x8.5 mm

34 <i1160339 i>BLIND FILTER

35 <i1160251 i>1 CUP FILTER 6 g

36 <i1160252 i>2-CUP FILTER 12 GRAMS

37 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

38 <i1165022 i>FILTER HOLDER COFFEE MACHINES

39 <i1241501 i>FILTER HOLDER HANDLE M12

40 <i1165003 i>FILTER HOLDER ASSEMBLY BRASILIA

41 <i1022501 i>SINGLE SPOUT ø 3/8"

41 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

42 <i1022502 i>DOUBLE SPOUT ø 3/8"

43 <i1385002 i>NYLON COFFEE TAMPER ø 50/57 mm

44 <i1069001 i>PLASTIC MEASURING SPOON 20 ml

45 <i1385053 i>ANODISED ALUMINUM TAMPER ø 58 mm

46 <i1186508 i>COFFEE GROUP GASKET 77x73x2 mm

47 <i1069002 i>STAINLESS STEEL MEASURING SPOON 20 ml

50 <i1190002 i>RUBBER SEAL ø 73x59x1 mm EPDM

51 <i1190001 i>PAPER SEAL ø 73x59x0.8 mm

52 <i1160335 i>1 CUP FILTER 7 g

53 <i1160337 i>2-CUP FILTER 14 GRAMS

54 <i1384002 i>BRUSH FOR MAINTENANCE

55 <i1384001 i>BRUSH FOR COFFEE SHOWER

<T1

BRASILIA
T1>



BREW GROUP ROMA

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1186611 i>O-RING 02025 RED SILICONE

1 <i1186612 i>O-RING 02025 VITON

2 <i1439003 i>CAP ø 18 mm FOR BREW GROUP

3 <i1186414 i>O-RING 0119 EPDM

4 <i1160501 i>WATER FILTER ø 14x10x12 mm

5 <i1500530 i>NOZZLE M5x1 HOLE ø 0.75 mm

6 <i1449349 i>DRAIN FITTING ø 1/8"Fx6 mm

7 <i1120101 i>3-WAY SOLENOID VALVE PARKER 115V 50/60Hz

7 <i1120330 i>3-WAY SOLENOID VALVE LUCIFER 240V 50Hz

7 <i1120332 i>COIL LUCIFER/PARKER 220/240V 9W 50Hz

7 <i1120334 i>3-WAY MECHANICAL COMPONENT LUCIFER

7 <i1120335 i>3-WAY SOLENOID VALVE PARKER 230V 50/60Hz

7 <i1120339 i>3-WAY MECHANICAL COMPONENT PARKER

7 <i3120032 i>COIL PARKER ZB09 9W 220/240V 50/60Hz

8 <i1186652 i>COFFEE GROUP GASKET 77x51x3 mm

9 <i1184008 i>S/S SCREW M8x25 T.E.M8x25UNI5739DIN24017

11 <i1186803 i>O-RING 02037 EPDM

12 <i1186654 i>FILTER HOLDER GASKET ø 70x57x8 mm

13 <i3160044 i>O-RING 03187 EPDM

15 <i1081002 i>SHOWER ø 51 mm

16 <i1528501 i>S/STEEL CROSS SCREW M5x12 mm UNI 7689

17 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

19 <i1022550 i>SINGLE SPOUT ø 3/8"

20 <i1022524 i>DOUBLE SPOUT ø 3/8"

22 <i1186043 i>ZINC-PLATED FLAT WASHER 16x8,5x1,6

23 <i1186058 i>S/STEEL COGGED WASHER M8 UNI 8842

24 <i1184003 i>S/S SCREW T.C.C.E.I. M8x45 UNI 5931

25 <i1241006 i>FILTER HOLDER KNOB CAP

27 <i1160339 i>BLIND FILTER

28 <i1160251 i>1 CUP FILTER 6 g

29 <i1160252 i>2-CUP FILTER 12 GRAMS

30 <i1069001 i>PLASTIC MEASURING SPOON 20 ml

31 <i1385053 i>ANODISED ALUMINUM TAMPER ø 58 mm

32 <i1385002 i>NYLON COFFEE TAMPER ø 50/57 mm

33 <i1069002 i>STAINLESS STEEL MEASURING SPOON 20 ml

34 <i1190051 i>PAPER SEAL ø 70x57x0.8 mm

35 <i1190003 i>RUBBER THICKNESS ø 70x57x1 mm EPDM

38 <i1384001 i>BRUSH FOR COFFEE SHOWER

39 <i1385600 i>DYNAMOMETRIC MANUAL COFFEE TAMPER ø 57mm

39 <i1385602 i>MANUAL DYNAMOMETRICAL TAMPER ø 57 mm

40 <i1384002 i>BRUSH FOR MAINTENANCE

41 <i1384001 i>BRUSH FOR COFFEE SHOWER

42 <i1160335 i>1 CUP FILTER 7 g

43 <i1160337 i>2-CUP FILTER 14 GRAMS

<T1

BRASILIA
T1>



LEVER BREW GROUP

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

3 <i1186205 i>RUBBER SHOCK ABSORBER

4 <i1186046 i>RUBBER SHOCK ABSORBER

5 <i1250501 i>LEVER GROUP SPRING

6 <i1186197 i>LIP SEAL ø 52x40x7 mm

8 <i1184015 i>GUIDE PISTON BUSHING

9 <i1439200 i>CAP ø 18 mm FOR BREW GROUP

10 <i1186414 i>O-RING 0119 EPDM

11 <i1323200 i>STAINLESS STEEL BALL  ø 12 mm

12 <i1523404 i>NON-RETURN VALVE

13 <i1186199 i>O-RING 0162 EPDM

15 <i1449009 i>INJECTOR BREW GROUP PIPE

16 <i1528026 i>SCREW M8x1 mm UNI 5931

17 <i1186058 i>S/STEEL COGGED WASHER M8 UNI 8842

18 <i1241200 i>LEVER GROUP HANDLE

20 <i1192200 i>CAP FOR COFFEE GROUP

21 <i1324200 i>PIN FOR BEARING

22 <i1192202 i>CHROMIUM-PLATED FORK FOR LEVER GROUP

23 <i1324053 i>LEVER GROUP ARTICULATION PIN ø 9x28 mm

24 <i1324043 i>ARTICULATION BUSHING ø 15x12.5x9 mm

25 <i1063200 i>BEARING 6300 2RS

26 <i1348023 i>STAINLESS STEEL CIRCLIP RA-9 UNI 7437

29 <i1186198 i>O-RING 0161 EPDM

30 <i1081009 i>SHOWER ø 61 mm

31 <i1186061 i>FILTER HOLDER GASKET ø 72.5x57x8 mm

32 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

35 <i1186058 i>S/STEEL COGGED WASHER M8 UNI 8842

36 <i1528026 i>SCREW M8x1 mm UNI 5931

37 <i1241006 i>FILTER HOLDER KNOB CAP

38 <i1022502 i>DOUBLE SPOUT ø 3/8"

39 <i1022501 i>SINGLE SPOUT ø 3/8"

39 <i1022503 i>STRAIGHT SINGLE SPOUT ø 3/8"

40 <i1160252 i>2-CUP FILTER 12 GRAMS

41 <i1160251 i>1 CUP FILTER 6 g

43 <i1385002 i>NYLON COFFEE TAMPER ø 50/57 mm

44 <i1385053 i>ANODISED ALUMINUM TAMPER ø 58 mm

45 <i1385600 i>DYNAMOMETRIC MANUAL COFFEE TAMPER ø 57mm

45 <i1385602 i>MANUAL DYNAMOMETRICAL TAMPER ø 57 mm

46 <i1190011 i>PAPER SEAL ø 72x58x0.8 mm

47 <i1190002 i>RUBBER SEAL ø 73x59x1 mm EPDM

<T1

BRASILIA
T1>



BREW GROUP CLUB-LADY

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1443005 i>CONTACT THERMOSTAT 98°C M4

1 <i1443400 i>CONTACT THERMOSTAT 107°C M4

1 <i3443026 i>CONTACT THERMOSTAT 110°C M4

3 <i1755006 i>NUT ø 1/4"

4 <i1349013 i>L-FITTING ø 1/8"M-1/8"M NICKEL-PLATED

5 <i1184006 i>S/S SCREW T.C.C.E.I. M4x12 UNI 7984

7 <i1186625 i>GASKET OR 03281 EPDM

8 <i3060608 i>O-RING O3050 EPDM

9 <i1755340 i>HEATING ELEMENT 1200W 220V

9 <i1755638 i>HEATING ELEMENT 1200W 110V

12 <i3160044 i>O-RING 03187 EPDM

13 <i1186063 i>FILTER HOLDER GASKET ø 64x55x5 mm

15 <i1081002 i>SHOWER ø 51 mm

16 <i1528501 i>S/STEEL CROSS SCREW M5x12 mm UNI 7689

19 <i1443004 i>CONTACT THERMOSTAT 145°C M4

20 <i1443002 i>CONTACT THERMOSTAT 165°C M4

24 <i1186059 i>COFFEE GROUP GASKET 35x32x1.5 mm

25 <i1120004 i>3-WAY SOLENOID VALVE OLAB 230V 50Hz

26 <i1186611 i>O-RING 02025 RED SILICONE

26 <i1186612 i>O-RING 02025 VITON

27 <i1250101 i>FILTER BLOCKING SPRING ø 1,00 mm INOX

30 <i1186043 i>ZINC-PLATED FLAT WASHER 16x8,5x1,6

31 <i1186058 i>S/STEEL COGGED WASHER M8 UNI 8842

32 <i1528026 i>SCREW M8x1 mm UNI 5931

34 <i1022524 i>DOUBLE SPOUT ø 3/8"

35 <i1160337 i>2-CUP FILTER 14 GRAMS

36 <i1160008 i>CLUB-LADY 1 CUP POD FILTER

37 <i1190007 i>RUBBER PIECE ø 64x53x1 mm EPDM

37 <i1190101 i>PAPER SEAL ø 64x53x0.7 mm

38 <i1384002 i>BRUSH FOR MAINTENANCE

39 <i1069002 i>STAINLESS STEEL MEASURING SPOON 20 ml

40 <i1069001 i>PLASTIC MEASURING SPOON 20 ml

41 <i1384001 i>BRUSH FOR COFFEE SHOWER

42 <i1384003 i>BLACK SHOWER CLEANING BRUSH

43 <i1385002 i>NYLON COFFEE TAMPER ø 50/57 mm

44 <i1385054 i>ANODISED ALUMINUM TAMPER ø 53 mm

45 <i1385601 i>DYNAMOMETRIC MANUAL TAMPER ø 52 mm

<T1

BRASILIA
T1>



LEVEL GROUP

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1523004 i>BOILER VALVE  ø 1/4"M

2 <i1186039 i>ASBESTOS FREE FLAT GASKET ø 17x13x2 mm

3 <i1349008 i>LEVEL BODY

4 <i1186318 i>O-RING 03043 EPDM

6 <i1349070 i>FITTING ø 3/8"M HOLE ø 12 mm

7 <i1520522 i>LEVEL GLASS ø 11x135 mm SILK-SCREEN PRIN

8 <i1349008 i>LEVEL BODY

9 <i1186619 i>COPPER FLAT GASKET ø 18x14x1.5 mm

10 <i1439049 i>LEVEL CAP ø 1/4"M

12 <i1341001 i>LEVEL PROBE ø 1/4"M-125 mm

<T1

BRASILIA
T1>



VALVE GROUP MIGNON

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

2 <i1120340 i>2-WAY SOLENOID VALVE OLAB 230V  50Hz

3 <i1186611 i>O-RING 02025 RED SILICONE

3 <i1186612 i>O-RING 02025 VITON

4 <i1349055 i>STRAIGHT FITTING 1/4"-3/8"

6 <i1250201 i>NON-RETURN VALVE SPRING ø 8x20 mm

7 <i1523539 i>SQUARE NON-RETURN VALVE

8 <i1186411 i>O-RING 02031 EPDM

11 <i1186412 i>BLIND GASKET ø 11x4 mm EPDM

13 <i1250203 i>SPRING ø 11x30 mm

14 <i1186414 i>O-RING 0119 EPDM

15 <i1349062 i>EXPANSION VALVE FITTING

16 <i1349054 i>EXPANSION VALVE NUT 3/8"

17 <i1349013 i>L-FITTING ø 1/8"M-1/8"M NICKEL-PLATED

18 <i1523401 i>SQUARE NON-RETURN VALVE

19 <i1250202 i>NON-RETURN VALVE SPRING ø 8x30 mm

<T1

BRASILIA
T1>



TAP GROUP THIRD AND FOURTH SERIES

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

2 <i1349011 i>FITTING FOR TAP GROUP ASSEMBLY

3 <i1250202 i>NON-RETURN VALVE SPRING ø 8x30 mm

4 <i1523401 i>SQUARE NON-RETURN VALVE

5 <i1186422 i>O-RING 0108 EPDM

6 <i1349055 i>STRAIGHT FITTING 1/4"-3/8"

7 <i1120340 i>2-WAY SOLENOID VALVE OLAB 230V  50Hz

11 <i1186611 i>O-RING 02025 RED SILICONE

11 <i1186612 i>O-RING 02025 VITON

12 <i1455034 i>S/S SCREW T.C.C.E.I M4x10 UNI 5931

13 <i1186421 i>O-RING 02018 EPDM

14 <i1528036 i>TAP SCREW

15 <i1186426 i>INLET TAP WASHER

16 <i1250204 i>TAP ROD SPRING ø 7x33 mm

18 <i1349052 i>INLET TAP UPPE FITTING

19 <i1349054 i>EXPANSION VALVE NUT 3/8"

20 <i1186223 i>O-RING 02056 EPDM

22 <i1186424 i>O-RING GASKET 02062 EPDM

23 <i1186423 i>EPDM FLAT GASKET ø 11x4x4 mm

25 <i1523539 i>SQUARE NON-RETURN VALVE

26 <i3349318 i>NICHEL-PLATED FITTING ø 1/8"M-1/8"M

28 <i1349062 i>EXPANSION VALVE FITTING

29 <i1186484 i>O-RING M 0140x20 NBR

29 <i3060608 i>O-RING O3050 EPDM

30 <i1250203 i>SPRING ø 11x30 mm

32 <i1186412 i>BLIND GASKET ø 11x4 mm EPDM

33 <i1186594 i>FLAT TEFLON GASKET ø 20x17x2 mm

42 <i1186390 i>TAP BUSHING

43 <i1186423 i>EPDM FLAT GASKET ø 11x4x4 mm

44 <i1349027 i>GASKET HOLDER FOR TAP

45 <i1523006 i>NON-RETURN VALVE

47 <i1186389 i>GASKET HOLDER FOR TAP

48 <i1186129 i>FLAT EPDM GASKET ø 15/6x10 mm

50 <i1348033 i>BRASS NUT M20x1

51 <i1160011 i>WATER FILTER ø 9 mm

<T1

BRASILIA
T1>



CERAMIC WATER-STEAM TAP

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

2 <i1348334 i>ARTICULATION SCREW

4 <i1186602 i>CONICAL TEFLON SEAL ø 14.5x10x5 mm

13 <i1348216 i>CLASP ø 2x16 mm

14 <i1186661 i>FLAT TEFLON GASKET ø 13x15.5x1 mm

15 <i1186611 i>O-RING 02025 RED SILICONE

16 <i1186833 i>O-RING 03100 EPDM

22 <i1186065 i>FLAT GASKET ø 12x10x1 mm TEFLON

23 <i1449332 i>WATER PIPE NOZZLE

24 <i1186066 i>FLAT GASKET ø 21x15x3 mm EPDM

25 <i1449018 i>WATER PIPE NOZZLE

26 <i1449343 i>COMPLETE WATER PIPE

28 <i1449335 i>STEAM PIPE COMPLETE

29 <i1449331 i>WATER PIPE

30 <i1449020 i>STEAM NOZZLE

31 <i1449335 i>STEAM PIPE COMPLETE

34 <i1186080 i>STEAM PIPE CLIP ø 10 mm

<T1

BRASILIA
T1>



CERAMIC WATER-STEAM TAP

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

10 <i1348216 i>CLASP ø 2x16 mm

11 <i1186661 i>FLAT TEFLON GASKET ø 13x15.5x1 mm

12 <i1186611 i>O-RING 02025 RED SILICONE

13 <i1186833 i>O-RING 03100 EPDM

18 <i3349322 i>NICHEL-PLATED FITTING ø 1/8"M-3/8"M

19 <i1186067 i>ROUND COPPER GASKET ø 23x17x3 mm

19 <i3186434 i>O-RING 0121 EPDM

20 <i1250151 i>SPRING ø 12x15 mm FOR STEAM PIPE

21 <i1186670 i>STEAM PIPE BUSHING ø 12x5 mm

23 <i3060608 i>O-RING O3050 EPDM

24 <i1349064 i>NUT 3/8"  FOR WATER STEAM PIPE

25 <i1186065 i>FLAT GASKET ø 12x10x1 mm TEFLON

26 <i1449332 i>WATER PIPE NOZZLE

27 <i1186066 i>FLAT GASKET ø 21x15x3 mm EPDM

28 <i1449018 i>WATER PIPE NOZZLE

31 <i1449020 i>STEAM NOZZLE

34 <i1186668 i>WATER/STEAM PIPE BUSHING ø 12x5 mm

36 <i1449344 i>STEAM PIPE COMPLETE

37 <i1186080 i>STEAM PIPE CLIP ø 10 mm

<T1

BRASILIA
T1>



WATER-STEAM TAP WITH RUBBER SEAL

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1348334 i>ARTICULATION SCREW

3 <i1186602 i>CONICAL TEFLON SEAL ø 14.5x10x5 mm

4 <i1348019 i>TAP BODY WITH RUBBER SEALING

5 <i1186044 i>COPPER FLAT GASKET ø 24x20x1 mm

6 <i1348025 i>BRASS NUT M3

7 <i1186311 i>NBR FLAT GASKET ø 13x4x4 mm

8 <i1186556 i>O-RING R6 EPDM

10 <i1250074 i>SPRING ø 10.5x27 mm

15 <i1348356 i>RUBBER SEAL TAP 2000

16 <i1186065 i>FLAT GASKET ø 12x10x1 mm TEFLON

17 <i1449332 i>WATER PIPE NOZZLE

18 <i1449018 i>WATER PIPE NOZZLE

19 <i1186066 i>FLAT GASKET ø 21x15x3 mm EPDM

20 <i1449331 i>WATER PIPE

21 <i1449020 i>STEAM NOZZLE

23 <i1186080 i>STEAM PIPE CLIP ø 10 mm

24 <i1449335 i>STEAM PIPE COMPLETE

29 <i3349322 i>NICHEL-PLATED FITTING ø 1/8"M-3/8"M

30 <i1186067 i>ROUND COPPER GASKET ø 23x17x3 mm

31 <i1250151 i>SPRING ø 12x15 mm FOR STEAM PIPE

32 <i1186670 i>STEAM PIPE BUSHING ø 12x5 mm

33 <i3060608 i>O-RING O3050 EPDM

34 <i1349064 i>NUT 3/8"  FOR WATER STEAM PIPE

35 <i1449012 i>COMPLETE WATER PIPE

<T1

BRASILIA
T1>



TAP CLUB-LADY-BAR-AMERICA

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

2 <i1348034 i>TAP ASSEMBLY CLUB

3 <i1348021 i>TAP BODY LADY

5 <i1186411 i>O-RING 02031 EPDM

7 <i1348024 i>TOP FITTING

10 <i1348330 i>BAR TAP ASSEMBLY

11 <i1349012 i>INLET FITTING

12 <i1250005 i>SPRING ø 12,5x28 mm

13 <i1186117 i>TEFLON FLAT GASKET ø 26x21x2 mm

15 <i1186161 i>FLAT EPDM GASKET ø 13x4x4 mm

16 <i1348053 i>TAP BODY

19 <i1186117 i>TEFLON FLAT GASKET ø 26x21x2 mm

20 <i1349006 i>TOP FITTING

21 <i1186057 i>FLAT EPDM GASKET ø 15.3x7.7x4 mm

23 <i1250521 i>SPRING ø 15x17 mm

26 <i1449331 i>WATER PIPE

27 <i1186065 i>FLAT GASKET ø 12x10x1 mm TEFLON

28 <i1449332 i>WATER PIPE NOZZLE

29 <i1449018 i>WATER PIPE NOZZLE

30 <i1186066 i>FLAT GASKET ø 21x15x3 mm EPDM

31 <i1449335 i>STEAM PIPE COMPLETE

32 <i1449020 i>STEAM NOZZLE

33 <i1348334 i>ARTICULATION SCREW

35 <i1186602 i>CONICAL TEFLON SEAL ø 14.5x10x5 mm

38 <i1186423 i>EPDM FLAT GASKET ø 11x4x4 mm

40 <i1186421 i>O-RING 02018 EPDM

41 <i1186426 i>INLET TAP WASHER

44 <i1349054 i>EXPANSION VALVE NUT 3/8"

46 <i1348344 i>CHROMIUM-PLATED NUT 3/8

50 <i1449015 i>FITTING FOR EXTENSION

51 <i1323003 i>STAINLESS STEEL BALL  ø 8 mm

52 <i1449335 i>STEAM PIPE COMPLETE

53 <i1449343 i>COMPLETE WATER PIPE

54 <i1348348 i>TAP SWITCHING PIN

<T1

BRASILIA
T1>



BOILER CENTURY-GRADISCA-PORTOFINO

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1523003 i>BOILER VALVE ø 3/8"M

1 <i1523536 i>BOILER VALVE ø 3/8" M AUTO-CERTIFIED

2 <i1186067 i>ROUND COPPER GASKET ø 23x17x3 mm

12 <i1349014 i>BOILER FITTING ø 1/2"M-1/2"M

13 <i1341001 i>LEVEL PROBE ø 1/4"M-125 mm

14 <i1186047 i>ROUND COPPER GASKET ø 28x22x3 mm

16 <i1186618 i>BOILER GASKET ø 142x130x3 mm

22 <i1184009 i>STAINLESS STEEL M8x25 mm STUD

23 <i1444531 i>CONTACT THERMOSTAT 135°C

26 <i1186048 i>ROUND COPPER GASKET ø 19x13x2.7 mm

32 <i1186634 i>TRIANGULAR GASKET FOR HEATING ELEMENT

33 <i1755002 i>HEATING ELEMENT 3500W 230V

33 <i1755003 i>HEATING ELEMENT 5000W 230V

33 <i1755005 i>HEATING ELEMENT 6500W 230V

33 <i1755217 i>HEATING ELEMENT 4500W 230/380V

33 <i1755330 i>HEATING ELEMENT 1800W 230V

33 <i1755331 i>HEATING ELEMENT 3000W 230V

33 <i1755332 i>HEATING ELEMENT 4000W 230V

33 <i1755333 i>HEATING ELEMENT 5000W 230V

33 <i1755337 i>HEATING ELEMENT 3000W 380V

33 <i1755338 i>HEATING ELEMENT 4000W 380V

34 <i1755134 i>HEATING ELEMENT 2400W 230V

34 <i1755336 i>HEATING ELEMENT 1800W 230V

34 <i1755633 i>HEATING ELEMENT 1800W 110V

34 <i1755634 i>HEATING ELEMENT 2400W 110V

36 <i1186623 i>TEFLON FLAT GASKET ø 53x42x3 mm

37 <i1755342 i>HEATING ELEMENT 3200W 220V

38 <i3186606 i>O-RING 0144 EPDM

39 <i1755637 i>HEATING ELEMENT 1400W 110V

<T1

BRASILIA
T1>



GAS SYSTEM

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i3523002 i>VALVE M1 ø 1/4"MM

1 <i3523006 i>NUT M12x1 FOR M1 VALVE

1 <i3523007 i>RING NUT M12x1 FOR M1 VALVE

1 <i3523052 i>VALVE M1 ø 3/8"MM

4 <i3440011 i>SLOTTED FITTING M9x1

5 <i3440027 i>THERMOCOUPLE SIT M8x1 32 cm

5 <i3440028 i>THERMOCOUPLE SIT M8x1 60 cm

5 <i3440053 i>THERMOCOUPLE SIT M8x1 60 cm THREAD M8x1

<T1

BRASILIA
T1>



PUSH-BUTTONS

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

6 <i1319088 i>PUSH-BUTTON PANEL 6 BUTTONS

15 <i1319610 i>CONTROL-BOX P.BUT.PANEL 6 BUTTONS

<T1

BRASILIA
T1>



ELECTRICAL PARTS

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

4 <i1054542 i>DOSER CONTROL BOX 2 GROUPS BAR 230V

12 <i1054539 i>LEVEL REGULATOR NRL30/1E-2C/8 230V

13 <i3351154 i>BASE OCTAL ES8 10A 400V

14 <i1054538 i>LEVEL REGULATOR 230V

16 <i1054537 i>DOSER CONTROL BOX 2 GROUPS 230V

17 <i1054531 i>DOSER CONTROL BOX 1 GROUP 230V

18 <i1320531 i>PRESSURE SWITCH P302/6 3-POLES 30A

18 <i1320533 i>MEMBRANE KIT FOR PRESSURE SWITCH

18 <i1320541 i>PRESSURE SWITCH PARKER

19 <i1319531 i>SELECTOR SWITCH 0-2 POSITIONS 16A 600V

20 <i1241540 i>SELECTOR SWITCH KNOB

20 <i1319464 i>ORANGE BIPOLAR SWITCH 16A 250V

21 <i1057531 i>SELECTOR SWITCH 0-5 POSITIONS

23 <i1319012 i>SELECTOR SWITCH 0-2 POSITIONS 20A 690V

24 <i1241542 i>BLACK KNOB FOR CONVERTER

26 <i1221509 i>GREEN LAMP CAP

26 <i1221510 i>ORANGE LAMP CAP

27 <i1319464 i>ORANGE BIPOLAR SWITCH 16A 250V

28 <i1319464 i>ORANGE BIPOLAR SWITCH 16A 250V

29 <i1319614 i>RED BIPOLAR PUSH BUTTON 16A 250V

29 <i1319619 i>RED BIPOLAR PUSH BUTTON 16A 250V

29 <i3319948 i>RED BIPOLAR SWITCH 16A 250V

30 <i1319539 i>RED BIPOLAR PUSH BUTTON 16A 250V

31 <i1319611 i>RED BIPOLAR SWITCH 16A 250V

31 <i1319612 i>RED BIPOLAR SWITCH 16A 250V

32 <i1455031 i>FLOWMETER GICAR

33 <i1455033 i>CONNECTOR FEMALE SMALL

34 <i3349318 i>NICHEL-PLATED FITTING ø 1/8"M-1/8"M

35 <i1349013 i>L-FITTING ø 1/8"M-1/8"M NICKEL-PLATED

37 <i1054529 i>LEVEL REGULATOR  SMA 220V

<T1

BRASILIA
T1>



PRESSURE GAUGES AND TANKS

Positions without LF code no.: upon request

<T1

BRASILIA
T1>



Position LF code no. Description

1 <i1245009 i>BOILER-PUMP PRESSURE GAUGE ø 63 mm

1 <i1245532 i>BOILER-PUMP PRESSURE GAUGE ø 63 mm

2 <i1245009 i>BOILER-PUMP PRESSURE GAUGE ø 63 mm

3 <i1245535 i>BOILER-PUMP PRESSURE GAUGE ø 63 mm

8 <i1245532 i>BOILER-PUMP PRESSURE GAUGE ø 63 mm

10 <i1186067 i>ROUND COPPER GASKET ø 23x17x3 mm

12 <i1186352 i>O-RING 02050 EPDM

15 <i1160700 i>FITTING WITH FILTER ø 3/8"Mx3/8"M

16 <i1079001 i>COMPLETE SMALL CAPPUCCINATORE WHITE

17 <i1079002 i>CAPPUCCINATORE NYLON

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Bearings
T2>

<|1063200 |> BEAR IN G  6300 2RS <| |>

external ø 35 mm -internal ø 10 mm-thickness 11 mm

    

BRASILIA  02129.2.00.04  

<T2

Boiler safety valves
T2>

<|1523004 |> BOILER VALVE  ø 1/4"M <|1523534 |> BOILER VALVE ø 1/4"M
stainless steel - new model

  internal teflon coating - or viton
  for Coffee machine (ASTORIA CMA) ARGENTA - DIVINA
  for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA
  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (CARIMALI) ECO - UNO
  for Coffee machine (CONTI) CLUB - TWIN STAR2
  XEOS2
  for Coffee machine (ESSIKA) SK2 - SSK2
  for Coffee machine (FAEMA) DUEA - ELITE - EXPRESS
  E61 - E64 - E66 - E91 - E92 - P4 - P6
  for Coffee machine (NUOVA SIMONELLI) MACCUP
  OPTIMA
  for Coffee machine (PAVONI) BAR - BART - PUB
  for Coffee machine (SAN MARCO) NS85

    

BRASILIA  05062.4.00.09 BRASILIA  12402.4.00.09  BRASILIA

<|1523537 |> BOILER VALVE ø 1/4"M <|1523538 |> BOILER VALVE ø 1/4"M
stainless steel - old model made of brass

 or viton  for Coffee machine (ASTORIA CMA) ARGENTA - DIVINA
  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (CIMBALI) M15 - M20 - M27 - M30
  for Coffee machine (EXPOBAR) EXPRESSO
  MINICOMPACT-MOULIN - MINICOMPACT-1GRUPPO
  MINICOMPACT-2GRUPPI - MONROC - OFFICE
  for Coffee machine (FAEMA) DUE - ELITE - E91
  for Coffee machine (GRIMAC) NEWCIALDAVAPOR
  VAPORDOUBLE
  for Coffee machine (WEGA) AIRY - ANTARES - ATLAS
  NOVA - ORION - POLARIS

    

BRASILIA  BRASILIA

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1523536 |> BOILER VALVE ø 3/8" M  AU TO-CERTIFIED <|1523003 |> BOILER VALVE ø 3/8"M

calibration pressure 1.8 bar calibration pressure 1,6 bar
 steam release 6.3 Kg/h  

    

BRASILIA  01120.4.00.09  BRASILIA  12611.4.00.09

<|1523535 |> BOILER VALVE ø 3/8"M <| |>

calibration pressure 1,8 bar
 steam release 6.3 Kg/h  
 for Coffee machine (ASTORIA CMA) ARGENTA - DIVINA  
 for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT-MOULIN - MINICOMPACT-1GRUPPO  
 MINICOMPACT-2GRUPPI - MONROC - OFFICE  
 for Coffee machine (FAEMA) DUEA - ELITE - EXPRESS  
 E61 - E64 - E66 - E91 - E92 - P4 - P6  
 for Coffee machine (FIORENZATO C.S.) MURANO  
 for Coffee machine (SAN MARCO) NS85  
 for Coffee machine (WEGA) AIRY - ANTARES - ATLAS  
 NOVA - ORION - POLARIS  

    

BRASILIA  

<T2

Booster pumps
T2>

<|1330001 |> R OTARY VANE PU M P  R OTO FLOW  ø  3/8" N PT <| |>

clamp connection
 flowrate 100 L/h  
 equipped with balanced bypass  
 connection ø 3/8" conical NPT  
 N.S.F. approved  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT - MONROC - OFFICE  

    

BRASILIA  00604.4.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Booster pumps
T2>

<|1330002 |> R OTARY VANE PU M P  R OTO FLOW  ø  3/8" N PT <|1349100 |> PU M P CONN ECTION ø  3/8"CON IC-3/8" STR AIGH
clamp connection 3/8"CONICAL(NPT)-3/8"STRAIGHT

 flowrate 200 L/h  for Coffee machine (CONTI) XEOS2
 equipped with balanced bypass  
 NSF approved  
 PA204  
 for Coffee machine (ASTORIA CMA) ARGENTA - BRAVA  
 COMPACT  
 for Coffee machine (AZKOYEN) AZ04 - VIENNA  

    

BRASILIA  04321.4.00.08 BRASILIA  04321.4.00.09  

<|1168011 |> STAINLESS STEEL CL AM P F OR  F LAN GE PU M P <| |>

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

BRASILIA  02223.0.00.03  

<|1331035 |> R OTARY VANE PU M P  R OTO FLOW  ø  3/8" N PT <| |>

clamp fastening
 flowrate 100 L/h  
 with balanced by-pass  
 coupling ø 3/8" conical NPT  
 N.S.F. approved  
 for Coffee machine (BRASILIA)  

    

BRASILIA  23007.4.00.08  

<T2

Bumpers
T2>

<|1186046 |> R UB BER  SHOCK ABSORB ER <|1186205 |> R UB BER  SHOCK ABSORB ER
for brew group lever for brew group lever

    

BRASILIA  01432.0.00.02  BRASILIA  01431.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Capacitors
T2>

<|3068019 |> CAPACITOR  µF  12.5 450V 50/60Hz <|3068024 |> CAPACITOR  µF  16 450V 50/60Hz
operating temperature -25+85°C operating temperature -25+85°C

 in compliance with EEC 93/68 and 92/31 regulations  in compliance with EEC 93/68 and 92/31 regulations

    

BRASILIA  00602.0.00.08 BRASILIA  01897.2.00.08  BRASILIA  09406.2.00.08

<|3068027 |> CAPACITOR  µF  20 450V 50/60Hz <| |>

operating temperature -25+85°C
 in compliance with EEC 93/68 and 92/31 regulations  

    

BRASILIA  09405.2.00.08  

<T2

Cappuccino makers - Cappuccinatore
T2>

<|1079018 |> CAP PU CCIN ATOR E CONN ECTOR  TU BE <|1079002 |> CAP PU CCIN ATOR E NYLON
for Coffee machine (BRASILIA) FIRENZE

    

BRASILIA  10510.0.00.02  BRASILIA  10075.4.00.09

<|1079001 |> COM PLETE SM ALL C APPU CCINATO RE W HITE <| |>

for Coffee machine (BRASILIA) ACTIONLADY
 CAPPUCCINO  
 for Coffee machine (GRIMAC) NUVOLA  
 for Coffee machine (SAECO) AROMA - MAGICCAPPUCCINO  

    

BRASILIA  11113.4.00.09  

<T2

Caps
T2>

<|1184004 |> CAP  ø 1/4"M  F OR BREW  G R OU P <|1439013 |> CAP  ø 1/4"M  F OR BREW  G R OU P

    

BRASILIA  07667.0.00.04  BRASILIA  00233.0.00.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1184521 |> CAP  ø 1/8"M  F OR BREW  G R OU P <|1501003 |> CAP  ø 1/8"M  F OR BREW  G R OU P

    

BRASILIA  03460.0.00.04 BRASILIA  03460.0.10.04  BRASILIA  00194.0.00.04

<|1439001 |> CAP  ø 16 m m  FOR  BR EW  G R OUP <|1439003 |> CAP  ø 18 m m  FOR  BR EW  G R OUP
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (ASTORIA CMA) PLUS4YOU

 DOMOBAR - DOMOBARJUNIOT - DOMOBARSUPER  for Coffee machine (BRASILIA) GRADISCA
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  for Coffee machine (WEGA) CONCEPT52 - CONCEPT56
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

BRASILIA  12791.0.10.04  BRASILIA  00127.0.00.04 BRASILIA  02106.0.00.04

<|1439200 |> CAP  ø 18 m m  FOR  BR EW  G R OUP <|1439049 |> LEVEL CAP ø 1/4"M
for Coffee machine (VIBIEMME) REPLICA

    

BRASILIA  02106.0.10.04  BRASILIA  11091.0.00.04

<T2

Circlips
T2>

<|1348023 |> STAINLESS STEEL CIR CLIP RA -9 U NI 7437 <| |>

    

BRASILIA  05501.0.00.03  

<T2

Clamps
T2>

<|1168011 |> STAINLESS STEEL CL AM P F OR  F LAN GE PU M P <| |>

for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

BRASILIA  02223.0.00.03  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Coffee filters
T2>

<|1160504 |> 2 CU PS POD FILTER <| |>

    

BRASILIA  

<|1160600 |> ADAPTER FILTER  F OR EP CAPSU LES <|1165181 |> BOTTOM LESS FILTER  H OLDER  BEZZER A
to match with the machine-brand specific wings 5.5 mm

 bottomless filter holder  
 food-safe certification  
 for MODEL E61 GROUPS  
 for Coffee machine (BEZZERA)  
 for Coffee machine (BRASILIA)  
 for Coffee machine (EXPOBAR)  
 for Coffee machine (FAEMA)  
 for Coffee machine (GRIMAC)  
 for Coffee machine (MARZOCCO)  
 for Coffee machine (SAB ITALIA)  
 for Coffee machine (SANREMO)  
 for Coffee machine (SCALA)  
 for Coffee machine (VIBIEMME)  
 for Coffee machine (WEGA)  

    

BRASILIA  

<|1165035 |> BOTTOM LESS FILTER  H OLDER  BR ASILIA <|1165183 |> BOTTOM LESS FILTER  H OLDER  FAEM A
wings 5.5 mm wings 7.2 mm

    

BRASILIA  

<|1165186 |> BOTTOM LESS FILTER  H OLDER  M AR ZOCCO <|1165188 |> BOTTOM LESS FILTER  H OLDER  VIBIEM M E
wings 6.3 mm wings 6.2 mm

    

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1165189 |> BOTTOM LESS FILTER  H OLDER  W EG A <| |>

wings 6.4 mm

    

<|1160339 |> BLIN D F ILTER <|1160008 |> CLU B-L ADY 1 CU P POD FILTER
for Coffee machine (ASTORIA CMA) DIVINA

 for Coffee machine (AZKOYEN) AZ04 - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (BRASILIA) CENTURY - GRADISCA  
 PORTOFINO  
 for Coffee machine (CIMBALI) M27 - M30  
 for Coffee machine (CONTI)  
 for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS  
 E61 - E64 - E66 - E91 - P4 - P6  
 for Coffee machine (GAGGIA) D90 - E90  
 for Coffee machine (NUOVA SIMONELLI) MACCUP  
 for Coffee machine (PAVONI) BAR - BART - PUB  
 for Coffee machine (RANCILIO) EPOCA  
 for Coffee machine (VFA EXPRES) ELITE - MAGESTIC  
 SPLENDOR  

    

BRASILIA  00564.0.40.01  BRASILIA  07108.0.40.01

<|1460100 |> PR ECISION  F ILTER 1 CUP  6/8 g <|1460101 |> PR ECISION  F ILTER 1 CUP  7/9 g
round holes with conical section round holes with conical section

 Aisi 304 stainless steel - food-safe certified  Aisi 304 stainless steel - food hygiene certified
 matching tamper ø 58 mm  matching tamper ø 58 mm
 for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA  for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA
 FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO  FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
 N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO  N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
 VICTORIA ARDUINO  VICTORIAARDUINO
 for GROUPS E61 ASCASO-BEZZERA-BFC-BIANCHI  for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
 BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC  BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
 IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE  IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
 QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA  QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
 VIBIEMME-WEGA  VIBIEMME-WEGA

    

BRASILIA  BRASILIA

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1460102 |> PR ECISION  F ILTER 2 CUP S 12/18 g <|1460103 |> PR ECISION  F ILTER 2 CUP S 14/20 g

round holes with conical section round holes with section conical
 Aisi 304 stainless steel - food hygiene certified  Aisi 304 stainless steel - food hygiene certified
 matching tamper ø 58 mm  matching tamper ø 58 mm
 for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA  for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA
 FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO  FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
 N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO  N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
 VICTORIAARDUINO  VICTORIAARDUINO
 for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI  for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
 BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC  BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
 IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE  IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
 QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA  QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
 VIBIEMME-WEGA  VIBIEMME-WEGA

    

BRASILIA  BRASILIA

<|1460104 |> PR ECISION  F ILTER 2 CUP S 18/22 g <|1160251 |> 1 CU P F ILTER 6 g
round holes with conical section for Coffee machine (AZKOYEN) AZ04 - VIENNA

 Aisi 304 stainless steel - food hygiene certified  for Coffee machine (BEZZERA) ELLISSE
 matching tamper ø 58 mm  for Coffee machine (BRASILIA) CENTURY - GRADISCA
 for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA  PORTOFINO
 FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO  for Coffee machine (CONTI) CLUB - XEOS2
 N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO  for Coffee machine (ESSIKA) SK2 - SSK2
 VICTORIAARDUINO  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
 for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI  E61 - E64 - E66 - E91 - P4 - P6
 BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC  for Coffee machine (GAGGIA) CAREZZA - CLASSIC
 IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE  DECO - EVOLUTION - GD - GE - LCD - XD - XE
 QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA  for Coffee machine (RANCILIO) EPOCA
 VIBIEMME-WEGA  for Coffee machine (RENEKA) LC - VIVA - VIVAS
  XLPALLAS
  for Coffee machine (VFA EXPRES) ELITE - MAGESTIC
  SPLENDOR

    

BRASILIA  BRASILIA  01702.0.40.01

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1160335 |> 1 CU P F ILTER 7 g <|1160503 |> 1 CU P POD  F ILTER

for Coffee machine (ASTORIA CMA) DIVINA
 for Coffee machine (AZKOYEN) AZ04 - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (BRASILIA) CENTURY - GRADISCA  
 PORTOFINO  
 for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS  
 E61 - E64 - E66 - E91 - P4 - P6  
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  
 XLPALLAS  
 for Coffee machine (VFA EXPRES) ELITE - MAGESTIC  
 SPLENDOR  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  

    

BRASILIA  00560.0.40.01  BRASILIA

<|1160281 |> 1-CU P F ILTER 7 gr -  BASIC QUA LITY <|1160252 |> 2-CU P F ILTER 12 GR AM S
for Coffee machine (AZKOYEN) AZ04 - VIENNA

  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) CENTURY - GRADISCA
  PORTOFINO
  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
  E61 - E64 - E66 - E91 - P4 - P6
  for Coffee machine (GAGGIA) DECO - D90 - E90 - GD
  GE - LCD - TS - XD - XE
  for Coffee machine (RANCILIO) EPOCA
  for Coffee machine (VFA EXPRES) ELITE - MAGESTIC
  SPLENDOR
  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION

    

BRASILIA  BRASILIA  01703.0.40.01

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1160337 |> 2-CU P F ILTER 14 GR AM S <|1160282 |> 2-CU P F ILTER 14 GR AM S - BASIC QUA LIT Y

for Coffee machine (ASTORIA CMA) DIVINA
 for Coffee machine (AZKOYEN) AZ04 - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (BRASILIA) CENTURY - GRADISCA  
 LADY - PORTOFINO  
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2 - SSK2  
 for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS  
 E61 - E64 - E66 - E91 - P4 - P6  
 for Coffee machine (RANCILIO) EPOCA  
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  
 XLPALLAS  
 for Coffee machine (VFA EXPRES) ELITE - MAGESTIC  
 SPLENDOR  

    

BRASILIA  00561.0.40.01  BRASILIA

<T2

Coffee groups
T2>

<|1324043 |> AR TICU LATION B USHIN G  ø 15x12.5x9 m m <|1192002 |> BR EW  G ROU P E61 R H
for delivery group

    

BRASILIA  04084.0.00.04  BRASILIA

<|1349022 |> CAM S CH RO M IUM -PLATED FITTING <|1192200 |> CAP  FO R COFF EE GR OU P

    

BRASILIA  13652.0.10.04  BRASILIA  04055.0.34.04

<|1191022 |> CHR OM IU M -PL ATED  CAM <|1225002 |> CHR OM IU M -PL ATED  CAP  M 6

    

BRASILIA  13656.0.10.04  BRASILIA  13654.0.10.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1192202 |> CHR OM IU M -PL ATED  F ORK FOR  LEVER GR OU P <|1439011 |> CHR OM IU M -PL ATED  SID E CAP

    

BRASILIA  04054.0.10.04  BRASILIA  12793.0.10.04

<|1523452 |> COM PLETE DR AIN  VALVE <|1523453 |> COM PLETE DR AIN  VALVE
triangular pin - total length 53 mm for brew group

 for brew group  for Coffee machine (VIBIEMME) CUBO - DOMOBAR
  DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS
  KOMETA - MERCURY - MINIMAX - REPLICA - SILVER

    

BRASILIA  09452.4.00.09  BRASILIA  09451.4.00.09

<|1523053 |> COM PLETE SPOU T VA LVE <|1349007 |> DR AIN  CHR OM IU M -PL ATED  FITTING
round pin - overall length 55 mm for Coffee machine (VIBIEMME) CHIMAERA - CUBO

 for delivery group  DOMOBARSUPER - DOSAPLUS - MERCURY - REPLICA
 for Coffee machine (VIBIEMME) CUBO - DOMOBAR  REVOLUTION
 DOMOBARJUNIOR - DOMOBARSUPER - REPLICA  

    

BRASILIA  09453.4.00.09  BRASILIA  12860.4.10.09

<|1349537 |> DR AIN  CHR OM IU M -PL ATED  FITTING <|1449349 |> DR AIN  FITTING  ø 1/8"Fx6 m m
total height 26 mm for brew group

  for Coffee machine (BRASILIA) CENTURY - PORTOFINO

    

BRASILIA  14871.0.10.04  BRASILIA  00180.0.00.04

<|1449025 |> DR AIN  PIPE <|1184015 |> G U ID E PISTO N BU SHIN G
for brew group for brew group

    

BRASILIA  00052.0.00.04 BRASILIA  00052.0.10.04  BRASILIA  11770.0.10.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1027002 |> OU TL ET CHR OM IU M -PL ATED  SLEEVE <|1027018 |> OU TL ET CHR OM IU M -PL ATED  SLEEVE

for Coffee machine (FAEMA) E61

    

BRASILIA  14870.0.10.04  BRASILIA  05597.0.10.04

<|1186592 |> SPRIN G GU ID E BUSH IN G <|1439533 |> STU F FING  GL AND  CHR OM E-PL ATED FITTING
for brew group for Coffee machine (VIBIEMME) CUBO - DOMOBAR

  DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

    

BRASILIA  13657.0.00.04  BRASILIA  13653.0.10.04

<|1027016 |> U PPER CH RO M IUM -PLATED SLEEVE <| |>

    

BRASILIA  12790.0.10.04  

<T2

Coffee measuring spoons
T2>

<|1069001 |> PL ASTIC M EASU R ING  SPOON  20 m l <|1069002 |> STAINLESS STEEL M EA SU R ING  SPOON 20 m l

    

BRASILIA  00782.0.00.02  BRASILIA

<T2

Contact thermostats
T2>

<|1443011 |> CON TACT TH ER M OSTAT 100°C M 4 <|1443400 |> CON TACT TH ER M OSTAT 107°C M 4
for coffee group for Coffee machine (GAGGIA) CAREZZA - CLASSIC

 for Coffee machine (GAGGIA) GD - GE - LCD - TS  EVOLUTION
 XD - XE  

    

BRASILIA  09415.2.00.08  BRASILIA  08701.2.00.08

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|3443026 |> CON TACT TH ER M OSTAT 110°C M 4 <|3443081 |> CON TACT TH ER M OSTAT 125°C M 4

for Coffee machine (BEZZERA) ELLISSE TE for Coffee machine (ELEKTRA) MINIVERTICALE
 for Coffee machine (FIORENZATO C.S.) COLOMBINA  

    

BRASILIA  10157.2.00.08  BRASILIA  06525.2.00.08

<|1444531 |> CON TACT TH ER M OSTAT 135°C <|1443004 |> CON TACT TH ER M OSTAT 145°C M 4
for Coffee machine (BRASILIA) LADY

    

BRASILIA  BRASILIA  08702.2.00.08

<|1443002 |> CON TACT TH ER M OSTAT 165°C M 4 <|1443017 |> CON TACT TH ER M OSTAT 85°C M 4
with manual reset for Coffee machine (CONTI) TWIN STAR2

 for Coffee machine (BRASILIA) CLUB - LADY  for Coffee machine (ESSIKA) SSK2
 for Coffee machine (ELEKTRA) MINIVERTICALE  
 NIVOLA  
 for Coffee machine (RANCILIO) BETSY - SILVIA - S20  
 for Coffee machine (VIBIEMME) DOMOBARJUNIOR  
 DOMOBARSUPER  

    

BRASILIA  08703.2.00.08  BRASILIA  14069.2.00.08

<|1444003 |> CON TACT TH ER M OSTAT 95°C M 4 <|1443005 |> CON TACT TH ER M OSTAT 98°C M 4
for Coffee machine (GRIMAC) AMBRA for Coffee machine (RDL) MAXI - MINI - SWEET

 DADAVAPORDOUBLE - NEWCIALDAVAPOR  for Coffee machine (SPINEL) DUETTO - ESSE - LOLA
 NEWCIALDAVAPORDOUBLE - NUVOLA - OPALE - TERRY  LOLAELITE - LOLITA - LOLITAELITE - MINIMINI
 for Coffee machine (PAVONI) MICROPOD  PINOCCHIO - RONDO - RONDOLUX - TOUR
 for Coffee machine (RDL) MAXI - MINI - MINICAP  
 SWEET  
 for Coffee machine (SPINEL) LOLA - LOLITA  
 MINIMINI  

    

BRASILIA  06524.2.00.08  BRASILIA  14072.2.00.08

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Couplings
T2>

<|1191008 |> ELASTIC CO UPL IN G  FOR  P UM P <|1191011 |> PU M PIN G EL ASTIC COU PLIN G
gap 11x5 mm - shaft hole 10x7 mm hole ø 11 mm - 13 teeth

 external ø 20 mm - height 27 mm  external ø 20 mm - height 25 mm

    

BRASILIA  05812.0.00.02  BRASILIA  12004.0.00.02 BRASILIA  12004.0.00.08

<T2

Electronic boxes
T2>

<|1054531 |> DO SER CON TR OL BO X 1 G R OU P 230V <|1054542 |> DO SER CON TR OL BO X 2 G R OU PS BAR  230V
for Coffee machine (BRASILIA) BELLEEPOQUE for Coffee machine (BRASILIA) CENTURY - GRADISCA

 CENTURY - PORTOFINO  PORTOFINO

    

BRASILIA  01805.2.00.08  BRASILIA  09950.2.00.08 BRASILIA  09950.2.00.08+...

<|1054537 |> DO SER CON TR OL BO X 2 G R OU PS 230V <| |>

for Coffee machine (BRASILIA) CENTURY - FIRENZE
 PORTOFINO - PORTOFINO AMERICA - 100  

    

BRASILIA  04964.2.00.08  

<T2

Energy regulators
T2>

<|1350531 |> G AS REG U LATOR  D K 2 BAR <| |>

connections ø 1/4"MF

    

BRASILIA  01139.4.00.09  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Filter holder couplings
T2>

<|1002506 |> F ILTER  H OLDER  COU PLIN G <| |>

for Coffee machine (BRASILIA) BELLEEPOQUE
 PRIMA SERIE  

    

BRASILIA  09585.0.10.04  

<T2

Filter holder gaskets
T2>

<|1186063 |> F ILTER  H OLDER  G ASKET ø  64x55x5 m m <|1186657 |> F ILTER  H OLDER  G ASKET ø  66x56x6 m m
of red silicone conical type

 for Coffee machine (BRASILIA) CLUB - LADY  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 for Coffee machine (ELEKTRA) MINIVERTICALE  

    

BRASILIA  09207.0.00.02  BRASILIA  01393.0.00.02

<|1186656 |> F ILTER  H OLDER  G ASKET ø  67x56x6 m m <|1186702 |> F ILTER  H OLDER  G ASKET ø  70x56x8.5 m m
old series for Coffee machine (CIMBALI) M27 - M30

 for lever machines  
 for Coffee machine (ASTORIA CMA) ARGENTA  
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  

    

BRASILIA  BRASILIA  05820.0.00.02

<|1186654 |> F ILTER  H OLDER  G ASKET ø  70x57x8 m m <|1186622 |> F ILTER  H OLDER  G ASKET ø  71x56x8 m m
3 external cuts for Coffee machine (ASTORIA CMA) ARGENTA

 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  for Coffee machine (BRASILIA) GRADISCA
  for Coffee machine (PAVONI) BART

    

BRASILIA  01393.0.00.02 BRASILIA  04408.0.00.02  BRASILIA

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186061 |> F ILTER  H OLDER  G ASKET ø  72.5x57x8 m m <|1186678 |> F ILTER  H OLDER  G ASKET ø  72x56x8.5 m m

with internal cuts
  for Coffee machine (WEGA) CONCEPT56

    

BRASILIA  04367.0.00.02  BRASILIA

<|1186722 |> F ILTER  H OLDER  G ASKET ø  73x57x8 m m <|1486018 |> F ILTER H OLDER GA SK ET ø 66x56.5x5.3 m m
for Coffee machine (CONTI) TWIN STAR2 for Coffee machine (BEZZERA) B2000 - B2000AL

 for Coffee machine (ESSIKA) SSK2  B2000DE - B2000MN - B2006 - B2006AL
 for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS  
 E61 - E64 - E66 - E91 - P4 - P6  
 for Coffee machine (VFA EXPRES) ELITE - MAGESTIC  
 SPLENDOR  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  
 for Coffee machine (WEGA) MINI  

    

BRASILIA  BRASILIA  00844.0.00.02

<T2

Filter holders for coffee machines
T2>

<|1165162 |> BAR LEY/COF F EE POD S FILTER  H OLDER <|1165035 |> BOTTOM LESS FILTER  H OLDER  BR ASILIA
wings 6.5 mm wings 5.5 mm

    

BRASILIA  BRASILIA

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1165003 |> F ILTER  H OLDER  ASSEM B LY BR ASILIA <|1165022 |> F ILTER  H OLDER  COF FEE M ACHINES

spout connection ø 3/8" - handle connection M12 spout connection ø 3/8" - handle connection M12
 wings 7 mm - with spring - without filter  wings 7 mm
  for Coffee machine (BRASILIA)
  for Coffee machine (BRUGNETTI-AURORA)
  for Coffee machine (FAEMA)
  for Coffee machine (FIORENZATO C.S.)
  for Coffee machine (FUTURMAT-ARIETE)
  for Coffee machine (GAGGIA SPAGNA)
  for Coffee machine (GRIMAC)
  for Coffee machine (MAIRALI)
  for Coffee machine (SCALA)
  for Coffee machine (VFA EXPRES)
  for Coffee machine (VISACREM)
  for Coffee machine (WEGA)

    

BRASILIA  04305.4.00.09 BRASILIA  06396.8.00.09  BRASILIA  04106.0.00.04 BRASILIA  21666.0.10.04

<|1165098 |> F ILTER  H OLDER  COF FEE M ACHINES BR ASILIA <|1165103 |> POR TAF ILTER COM PLETE BRA SILIA
spout connection ø 3/8" - knob connection M12 spout fitting ø 3/8" - knob fitting M12

 fins 5 mm  wings 5.2 mm - no sping and no filter

    

BRASILIA  05016.8.00.09  BRASILIA  06668.6.00.09 BRASILIA  06668.8.00.09

<T2

Filters
T2>

<|1160501 |> W ATER FILTER  ø 14x10x12 m m <|1160517 |> W ATER FILTER  ø 8.5x22 m m
for Coffee machine (ASTORIA CMA) ARGENTA for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA

 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (BRASILIA) CENTURY - GRADISCA  
 PORTOFINO  
 for Coffee machine (PAVONI) BART  

    

BRASILIA  00086.0.00.04  BRASILIA  12897.0.40.01

<|1160011 |> W ATER FILTER  ø 9 m m <| |>

    

BRASILIA  09756.0.00.04  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Fittings
T2>

<|1349014 |> BOILER FITTING  ø 1/2"M -1/2"M <|1349062 |> EXPAN SION  VALVE FITTING
for Coffee machine (GRIMAC) ECLISSE - TEN - TWENTY

 for Coffee machine (VIBIEMME) DOMOBAR SUPER  
 DOSAPLUS - EVOLUTION - LOLLO - MERCURY  
 MINIMAX - REVOLUTION - SILVER  

    

BRASILIA  07407.0.00.04  BRASILIA  04270.0.00.04

<|1349011 |> F IT TING  F OR  TAP GR OU P ASSEM BLY <|1160700 |> F IT TING  W ITH  F ILTER ø 3/8"M x3/8"M
for pumping

    

BRASILIA  03458.0.00.04  BRASILIA  08193.6.00.09 BRASILIA  08193.8.00.09

<|1349012 |> INLET FITTING <|1349052 |> INLET TAP U PPE F ITTIN G

    

BRASILIA  00103.0.00.04  BRASILIA  00104.0.00.04

<|1349013 |> L-F ITTIN G ø 1/8"M -1/8"M  N ICK EL-PLATED <|1349716 |> NICHEL P LATED   L -FITTING  ø 1/8"M -1/8"F

    

BRASILIA  00217.0.00.04  BRASILIA  00075.0.00.04

<|3349318 |> NICHEL-P LATED  F IT TIN G ø 1/8"M -1/8" M <|3349322 |> NICHEL-P LATED  F IT TIN G ø 1/8"M -3/8" M

    

BRASILIA  00236.0.00.04  BRASILIA  07202.0.00.04 BRASILIA  07202.0.10.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1349149 |> NU T ø 3/8" HO LE ø 12.5 m m <|1349055 |> STR AIG HT F ITTING  1/4"-3/8"

height 16,7 mm - nut 20 mm

    

BRASILIA  99138  BRASILIA  00069.0.00.04

<|1348024 |> TOP FITTING <|1349006 |> TOP FITTING

    

BRASILIA  00161.0.00.04  BRASILIA  00132.0.00.04

<T2

Flowmeters
T2>

<|1455031 |> F LOW M ETER GIC AR <|1455032 |> IM PELLER GICA R
connection ø 1/8"FF for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA

 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (FAEMA) COMPACT - DUEA  for Coffee machine (CIMBALI) M15 - M20 - M27 - M30
 EXPRESS - E92  for Coffee machine (EXPOBAR) EXPRESSO
  MINICOMPACT - MONROC - OFFICE
  for Coffee machine (FAEMA) COMPACT - DUEA
  EXPRESS - E92

    

BRASILIA  08729.2.00.08 BRASILIA  16054.2.00.08  BRASILIA

<|3455333 |> VOLU M ETRIC F LOW M ETER COVER <| |>

for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT - MONROC - OFFICE  
 for Coffee machine (FAEMA) COMPACT - DUEA  
 EXPRESS - E92  

    

BRASILIA  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Gas valves and accessories
T2>

<|3523006 |> NU T M 12x1 F OR M 1 VALVE <|3523007 |> R IN G  NU T M 12x1 F OR M 1 VALVE

    

BRASILIA  BRASILIA

<|3523002 |> VALVE M 1 ø  1/4"M M <|3182002 |> M AG NETIC U NIT SIT
inlet ø 1/4"M - outlet ø 1/4"M ø head 15 mm - ø end 10 mm - length 43 mm

 thermocouple connection M8x1  for valve SIT M1
 maximum gas inlet pressure 150 mbar  
 room temperature 0÷80°C  
 with thread under the button for ring nut  

    

BRASILIA  01178.4.00.09  BRASILIA

<|3523006 |> NU T M 12x1 F OR M 1 VALVE <|3523007 |> R IN G  NU T M 12x1 F OR M 1 VALVE

    

BRASILIA  BRASILIA

<|3523052 |> VALVE M 1 ø  3/8"M M <| |>

inlet ø 3/8"M
 outlet ø 3/8"M  
 thermocouple connection M8x1  
 max gas inlet pressure 150 mbar  
 room temperature 0÷80°C  
 with thread under the button for the ring nut  

    

BRASILIA  

<T2

Gaskets and seals
T2>

<|1186039 |> ASBESTOS F R EE F LAT G ASKET ø  17x13x2 m m <|1186412 |> BLIN D G ASKET ø 11x4 m m  EPDM
for Coffee machine (BRASILIA)

    

BRASILIA  13627.0.00.02  BRASILIA  01365.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186618 |> BOILER GA SKET ø 142x130x3 m m <|1186627 |> CAR BO FL AT GA SKET ø 41x33x3 m m

universal carbo of universal carbo
  for Coffee machine (VIBIEMME) CHIMAERA - DOMOBAR
  DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

    

BRASILIA  00821.0.00.02  BRASILIA  01378.0.00.02

<|1186059 |> COF FEE G ROU P GA SKET 35x32x1.5 m m <|1186652 |> COF FEE G ROU P GA SKET 77x51x3 m m
free of asbestos universal carbo

  distance between holes 60 mm
  for Coffee machine (BRASILIA) CENTURY - PORTOFINO

    

BRASILIA  00823.0.00.02  BRASILIA  00814.0.00.02

<|1186508 |> COF FEE G ROU P GA SKET 77x73x2 m m <|1186384 |> COF FEE G ROU P GA SKET 80x70x2 m m
teflon paper

 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  for Coffee machine (BRASILIA) GRADISCA
 DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS  for Coffee machine (PAVONI) BART
 MERCURY - REPLICA - REVOLUTION  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS
  MERCURY - REPLICA - REVOLUTION

    

BRASILIA  BRASILIA  04394.0.00.02

<|1186602 |> CON ICAL TEF LON SEAL ø  14.5x10x5 m m <|1186619 |> COPP ER  F LAT G ASKET ø  18x14x1.5 m m
for water/steam tap for Coffee machine (ASTORIA CMA) ARGENTA

 for Coffee machine (BRASILIA) CENTURY - FIRENZE  for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA
 GRADISCA - PORTOFINO  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) GRADISCA
  for Coffee machine (CIMBALI) M15 - M20 - M27 - M30
  for Coffee machine (EXPOBAR) EXPRESSO
  MINICOMPACT - MONROC - OFFICE
  for Coffee machine (FAEMA) DUEA - ELITE - EXPRESS
  E61 - E64 - E66 - E91 - E92 - P4 - P6
  for Coffee machine (FIORENZATO C.S.) MURANO
  for Coffee machine (NUOVA SIMONELLI) MACCUP
  OPTIMA
  for Coffee machine (PAVONI) BART
  for Coffee machine (SAN MARCO) 85
  for Coffee machine (SPAZIALE) SELETRON PLUS - S3

    

BRASILIA  00810.0.00.02  BRASILIA  00088.0.00.04 BRASILIA  00813.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186044 |> COPP ER  F LAT G ASKET ø  24x20x1 m m <|1186423 |> EPDM  FL AT G ASK ET ø 11x4x4 m m

for Coffee machine (BRASILIA)

    

BRASILIA  12152.0.00.03  BRASILIA  00818.0.00.02 BRASILIA  18513.0.00.02

<|1186312 |> EPDM  FL AT G ASK ET ø 15.5x7.5x4 m m <|1186161 |> F LAT EPDM  G ASK ET ø 13x4x4 m m
for Coffee machine (FAEMA) E61 - E64 - E66 - P4 for Coffee machine (CONTI) TWIN STAR2 - XEOS2

 STAR  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - MERCURY - REPLICA  

    

BRASILIA  08570.0.00.02  BRASILIA  00811.0.00.02

<|1186057 |> F LAT EPDM  G ASK ET ø 15.3x7.7x4 m m <|1186129 |> F LAT EPDM  G ASK ET ø 15/6x10 m m
external ø 15/6 mm - total height 10 mm

  for Coffee machine (FAEMA) COMPACT - DUEA
  EXPRESS - NOSTOP - STAR - TRONIC
  for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
  LOLLO - REPLICA - REVOLUTION

    

BRASILIA  01361.0.00.02  BRASILIA  18508.0.00.02

<|1186065 |> F LAT G ASKET ø 12x10x1 m m  TEF LON <|1186066 |> F LAT G ASKET ø 21x15x3 m m  EPDM
for Coffee machine (VIBIEMME) CHIMAERA - CUBO

 DOSAPLUS - EVOLUTION - KOMETA - MERCURY  
 MINIMAX - REPLICA - REVOLUTION - SILVER  

    

BRASILIA  01405.0.00.02  BRASILIA  05823.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186661 |> F LAT TEFLON  G ASKET ø 13x15.5x1 m m <|1186079 |> F LAT TEFLON  G ASKET ø 17x13x3 m m

for Coffee machine (BRASILIA) CENTURY - FIRENZE flared
 GRADISCA - PORTOFINO  

    

BRASILIA  05809.0.00.02  BRASILIA  07002.0.00.02

<|1186594 |> F LAT TEFLON  G ASKET ø 20x17x2 m m <|1186311 |> NB R FL AT GA SKET ø 13x4x4 m m
for Coffee machine (FAEMA) DUE - E91 - E92

  NOSTOP
  for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION
  LOLLO - REPLICA - REVOLUTION

    

BRASILIA  00820.0.00.02  BRASILIA  12005.0.00.02

<|1186048 |> R OU ND COPPER  G ASK ET ø 19x13x2.7 m m <|1186067 |> R OU ND COPPER  G ASK ET ø 23x17x3 m m

    

BRASILIA  01387.0.00.02  BRASILIA  01386.0.00.02

<|1186047 |> R OU ND COPPER  G ASK ET ø 28x22x3 m m <|1186099 |> TEF LON FL AT GA SKET ø 10x6x1 m m

    

BRASILIA  07788.0.00.02  BRASILIA  08576.0.00.02

<|1186326 |> TEF LON FL AT GA SKET ø 22x16x2 m m <|1186323 |> TEF LON FL AT GA SKET ø 24x18x2 m m
for Coffee machine (FAEMA) E61 for Coffee machine (BRASILIA) CENTURY - PORTOFINO

 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  for Coffee machine (FAEMA) E61
 DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 EVOLUTION - KOMETA - LOLLO - MERCURY - MINIMAX  DOSAPLUS - KOMETA - MERCURY - MINIMAX
 REPLICA - REVOLUTION - SILVER  REPLICA - SILVER

    

BRASILIA  08575.0.00.02  BRASILIA

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186117 |> TEF LON FL AT GA SKET ø 26x21x2 m m <|1186328 |> TEF LON FL AT GA SKET ø 35x30x2 m m

for Coffee machine (VIBIEMME) CHIMAERA - EVOLUTION for Coffee machine (BRASILIA) GRADISCA
 LOLLO - REPLICA - REVOLUTION  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER

    

BRASILIA  00812.0.00.02  BRASILIA  04360.0.00.02

<|1186623 |> TEF LON FL AT GA SKET ø 53x42x3 m m <|1186634 |> TRIAN GU L AR GA SKET F OR HEATIN G  EL EM EN T
for heating element teflon

 for Coffee machine (VIBIEMME) DOMOBARJUNIOR  dimensions 80x80x3 mm - internal hole ø 40 mm
 DOMOBARSUPER - DOSAPLUS - KOMETA - LOLLO  distance between the holes 58 mm
  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER

    

BRASILIA  00826.0.00.02  BRASILIA  00819.0.00.02

<T2

Handles for filterholder-portafilter
T2>

<|1241502 |> F ILTER  H OLDER  H AND LE M 10 <|1241501 |> F ILTER  H OLDER  H AND LE M 12
for Coffee machine (BEZZERA) ELLISSE

  for Coffee machine (BRASILIA) CENTURY - GRADISCA
  PORTOFINO
  for Coffee machine (PAVONI) BAR - BART

    

BRASILIA  BRASILIA  06355.0.00.02

<|1241504 |> F ILTER  H OLDER  H AND LE M 12 <|1241006 |> F ILTER  H OLDER  KN OB C AP

    

BRASILIA  BRASILIA  06364.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1141006 |> F ILTER  H OLDER  KN OB M 10 SOF T <|1141007 |> F ILTER  H OLDER  KN OB M 124 SOF T

    

BRASILIA  BRASILIA

<|1241067 |> F ILTER  K NOB M 12 <|5051751 |> F ILTER H OLDER KNO B W HITE M 10

    

BRASILIA  02638.0.00.02  BRASILIA

<|5054505 |> KN OB F .F ILTERH OLDER M 12 R ED  POLISHED <|1241200 |> LEVER  G R OU P HA ND LE
for Coffee machine (VIBIEMME) REPLICA

    

BRASILIA  BRASILIA  01487.0.00.02

<|1241507 |> R ED  F ILTER HOLD ER  H AND LE M 12 <|5054506 |> R ED  F ILTER HOLD ER  KN OB M 10 POLISH ED

    

BRASILIA  BRASILIA

<|5051102 |> W HITE FILTER  H OLDER  KN OB M 12 <|1141004 |> W OOD EN  F ILTER  H OLDER  HA ND LE M 10

    

BRASILIA  BRASILIA

<|1141003 |> W OOD EN  F ILTER  H OLDER  HA ND LE M 12 <| |>

    

BRASILIA  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Heating elements
T2>

<|1755638 |> HEATING  ELEM EN T 1200W  110V <| |>

immersed length 68 mm - 2 poles
 ø 55 mm  - fittings ø 1/4"  
 for Coffee machine (BRASILIA) CLUB - LADY  

    

BRASILIA  00626.2.00.08  

<|1755340 |> HEATING  ELEM EN T 1200W  220V <|1755006 |> NU T ø 1/4"
immersed length 68 mm - 2 poles

 ø 55 mm - fittings ø 1/4"  
 for Coffee machine (BRASILIA) CLUB - LADY  
 for Coffee machine (ELEKTRA) MINIVERTICALE  

    

BRASILIA  00625.2.00.08  BRASILIA  00177.0.00.04

<|3060608 |> O-R ING  O3050 EPDM <| |>

for Coffee machine (CONTI) CLUB - TWIN STAR2
 XEOS2  
 for Coffee machine (ESSIKA) SK2  

    

BRASILIA  00839.0.00.02 BRASILIA  07001.0.00.02  

<|1755348 |> HEATING  ELEM EN T 1350W  220V <|1186627 |> CAR BO FL AT GA SKET ø 41x33x3 m m
immersed length 130 mm - 2 poles of universal carbo

 fitting ø 1"  for Coffee machine (VIBIEMME) CHIMAERA - DOMOBAR
 for Coffee machine (BRASILIA) CAPPUCCINO  DOMOBARJUNIOR - DOMOBARSUPER - REPLICA
 for Coffee machine (SCALA) BUTTERFLY  
 for Coffee machine (VIBIEMME) DOMOBAR  

    

BRASILIA  01911.2.00.08  BRASILIA  01378.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1755637 |> HEATING  ELEM EN T 1400W  110V <|1755633 |> HEATING  ELEM EN T 1800W  110V

immersed length 135 mm - 2 poles immersed length 170 mm - 2 poles
 fitting ø 1"  fitting ø 1"1/4

    

BRASILIA  01912.2.00.08  BRASILIA  00619.2.00.08

<|1755330 |> HEATING  ELEM EN T 1800W  230V <|1186621 |> TRIAN GU L AR GA SKET F OR HEATIN G  EL EM EN T
immersed length 170 mm - 4 poles universal carbo

 distance between the holes 57 mm  dimensions 80x80x2 mm - internal hole 40 mm
 flange 78x78 mm  distance between the holes 57 mm
 for coffee machines with 1 group  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 for Coffee machine (SAB ITALIA) E96 - MODERNA  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER

    

BRASILIA  00614.2.00.08  

<|1755336 |> HEATING  ELEM EN T 1800W  230V <|1186633 |> F LAT CA RBO GA SKET ø 53x42x3 m m
immersed length 170 mm - 2 poles universal carbo

 connection ø 1"1/4  for heating element
 for Coffee machine (BRASILIA) CENTURY AMERICA  for Coffee machine (GAGGIA) D90 - E90
 PORTOFINO AMERICA  

    

BRASILIA  00613.2.00.08  

<|1755634 |> HEATING  ELEM EN T 2400W  110V <| |>

immersed length 295 mm - 4 poles
 connection 1"1/4  

    

BRASILIA  00628.2.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1755134 |> HEATING  ELEM EN T 2400W  230V <|1186633 |> F LAT CA RBO GA SKET ø 53x42x3 m m

immersed length 240 mm - 4 poles universal carbo
 connection ø 1"1/4  for heating element
 for 2 groups coffee machines  for Coffee machine (GAGGIA) D90 - E90

    

BRASILIA  00627.2.00.08  

<|1755331 |> HEATING  ELEM EN T 3000W  230V <|1186621 |> TRIAN GU L AR GA SKET F OR HEATIN G  EL EM EN T
immersed length 335 mm - 4 poles universal carbo

 distance between the holes 59 mm  dimensions 80x80x2 mm - internal hole 40 mm
 flange 78x78 mm  distance between the holes 57 mm
 for coffee machines with 2 groups  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 for Coffee machine (BIANCHI) LUCIA - SOFIA  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
 for Coffee machine (EXPOBAR) EXPRESSO  MERCURY - MINIMAX - REPLICA - REVOLUTION
 for Coffee machine (SAB ITALIA) ELLIPSE - E96  SILVER
 JOLLY - MODERNA  

    

BRASILIA  00615.2.00.08  

<|1755337 |> HEATING  ELEM EN T 3000W  380V <|1186621 |> TRIAN GU L AR GA SKET F OR HEATIN G  EL EM EN T
immersed length 350 mm - 4 poles universal carbo

 distance between the holes 57 mm  dimensions 80x80x2 mm - internal hole 40 mm
 flange 78x78 mm  distance between the holes 57 mm
 for coffee machines with 3 groups  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER

    

BRASILIA  01862.2.00.08  

<|1755342 |> HEATING  ELEM EN T 3200W  220V <|3186606 |> O-R ING  0144 EPDM
immersed length 410 mm - 4 poles

 distance between the holes 67 mm  
 for Coffee machine (BRASILIA) MYTHOS  

    

BRASILIA  04995.2.00.08  BRASILIA  01368.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1755002 |> HEATING  ELEM EN T 3500W  230V <| |>

immersed length 350 mm - 4 poles
 distance between the holes 59 mm  
 flange 78x78 mm  
 for coffee machines with 2 groups  

    

BRASILIA  01834.2.00.08  

<|1755332 |> HEATING  ELEM EN T 4000W  230V <|1186621 |> TRIAN GU L AR GA SKET F OR HEATIN G  EL EM EN T
immersed length 490 mm - 4 poles universal carbo

 distance between the holes 57 mm  dimensions 80x80x2 mm - internal hole 40 mm
 flange 78x78 mm  distance between the holes 57 mm
 for coffee machines with 3 groups  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER

    

BRASILIA  00616.2.00.08  

<|1755338 |> HEATING  ELEM EN T 4000W  380V <|1186621 |> TRIAN GU L AR GA SKET F OR HEATIN G  EL EM EN T
immersed length 460 mm - 4 poles universal carbo

 distance between mounting holes 57 mm  dimensions 80x80x2 mm - internal hole 40 mm
 flange 78x78 mm  distance between the holes 57 mm
 for 3 groups coffee machines  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER

    

BRASILIA  01863.2.00.08 BRASILIA  0186320008 BRASILIA  05391.2.00.08  

<|1755217 |> HEATING  ELEM EN T 4500W  230/380V <|1755003 |> HEATING  ELEM EN T 5000W  230V
immersed length 335 mm - 6 poles immersed length 450 mm - 4 poles

 distance between mounting holes 59 mm  distance between the holes 59 mm
 flange 78x78 mm  flange 78x78 mm
 for 2-group coffee machines  for coffee machines with 3 groups
 for Coffee machine (BRASILIA) CENTURY - DECURTIS  
 GRADISCA - PORTOFINO  

    

BRASILIA  04580.2.00.08  BRASILIA  01835.2.00.08

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1755333 |> HEATING  ELEM EN T 5000W  230V <|1186621 |> TRIAN GU L AR GA SKET F OR HEATIN G  EL EM EN T

immersed length 650 mm - 4 poles universal carbo
 distance between mounting holes 57 mm  dimensions 80x80x2 mm - internal hole 40 mm
 flange 78x78 mm  distance between the holes 57 mm
 for coffee machines with 3/4 groups  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 for Coffee machine (VIBIEMME) DOSAPLUS - EVOLUTION  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
 KOMETA - LOLLO - MERCURY - REVOLUTION - SILVER  MERCURY - MINIMAX - REPLICA - REVOLUTION
  SILVER

    

BRASILIA  00617.2.00.08  

<|1755005 |> HEATING  ELEM EN T 6500W  230V <| |>

immersed length 720 mm - 4 poles
 distance between the holes 59 mm  
 flange 78x78 mm  
 for coffee machines with 4 groups  

    

BRASILIA  01836.2.00.08  

<T2

Injectors
T2>

<|1500530 |> NO ZZLE M 5x1 H OLE ø 0.75 m m <|1501522 |> NO ZZLE M 6x1 H OLE ø 0,75 m m
for brew group for brew group

 for Coffee machine (ASTORIA CMA) ARGENTA  for Coffee machine (BIANCHI) SARA
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (BRASILIA) CENTURY - GRADISCA  
 PORTOFINO  
 for Coffee machine (PAVONI) BART  

    

BRASILIA  00046.0.00.04  BRASILIA  12792.0.00.04

<T2

Inlet hoses
T2>

<|1449281 |> SIL ICONE HO SE ø 4x7 SHO RE 60 -  100 m <|1449681 |> SIL ICONE HO SE ø 4x7 SHO RE 60 -  5  m
alimentary alimentary

    

BRASILIA  09252.0.00.04  BRASILIA  09252.0.00.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1449682 |> SIL ICONE HO SE ø 5x8 SHO RE 60 -  10 m <|1449282 |> SIL ICONE HO SE ø 5x8 SHO RE 60 -  100 m

alimentary alimentary

    

BRASILIA  02554.0.00.04  BRASILIA  02554.0.00.04

<|1449500 |> TEF LON PIPE ø 2x4 m m  - 10 m <|1449502 |> TEF LON PIPE ø 4x6 m m  - 10 m
alimentary alimentary

    

BRASILIA  08593.0.00.04  BRASILIA  05335.0.00.04

<T2

Ironmongery (screws,nuts,washers)
T2>

<|1348033 |> BR ASS NU T M 20x1 <|1348025 |> BR ASS NU T M 3
for coffee assembly

    

BRASILIA  17693.0.00.03  BRASILIA  01263.0.00.03

<|1184005 |> CAM  LOCKING  STAIN LESS STEEL SCR EW  M 6 <|1348216 |> CLASP ø 2x16 m m
for Coffee machine (VIBIEMME) CUBO - DOMOBAR for ceramic tap shaft

 DOMOBARJUNIOR - DOMOBARSUPER - REPLICA  

    

BRASILIA  13651.0.40.04  BRASILIA  05522.0.00.03

<|1528631 |> CROSS HEAD  SCR EW  M 4x8 U NI 7687 <|1349054 |> EXPAN SION  VALVE NU T 3/8"

    

BRASILIA  07079.0.00.03 BRASILIA  20096.0.00.03  BRASILIA  00067.0.00.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186426 |> INLET TAP W ASHER <|1349009 |> LOW  N U T 1/8"

for Coffee machine (BRASILIA) MASSELLO2

    

BRASILIA  00166.0.00.04  BRASILIA  02075.0.00.04

<|1755006 |> NU T ø 1/4" <|1184008 |> S/S SCR EW  M 8x25 T.E.M 8x25U NI5739DIN24017

    

BRASILIA  00177.0.00.04  BRASILIA  01231.0.00.03

<|1455034 |> S/S SCR EW  T.C.C.E.I M 4x10 U NI 5931 <|1184006 |> S/S SCR EW  T.C.C.E.I. M 4x12 U NI 7984

    

BRASILIA  02688.0.00.03  BRASILIA  01239.0.00.03

<|1184003 |> S/S SCR EW  T.C.C.E.I. M 8x45 U NI 5931 <|1186058 |> S/STEEL COG GED W ASH ER M 8 U NI 8842

    

BRASILIA  02680.0.00.03  BRASILIA  01291.0.00.03

<|1528501 |> S/STEEL CR OSS SCR EW  M 5x12 m m  U NI 7689 <|1184012 |> S/STEEL SCR EW  T.C.C.E.I. M 5x10 U NI 5931
for Coffee machine (ASTORIA CMA) ARGENTA

 for Coffee machine (BRASILIA) CENTURY - LADY  
 PORTOFINO  
 for Coffee machine (GAGGIA) D90 - E90  

    

BRASILIA  01242.0.00.03 BRASILIA  12912.0.00.03  BRASILIA  01247.0.00.03

<|1528627 |> S/STEEL SCR EW  T.S.P.C.E.I.M 8x20 U NI 5933 <|1528026 |> SCR EW  M 8x1 m m  U N I 5931

    

BRASILIA  01313.0.00.03  BRASILIA  01260.0.00.03

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1184009 |> STAINLESS STEEL M 8x25 m m  STU D <|1184010 |> STAINLESS STEEL SCREW  M 6x10 U N I 9327

    

BRASILIA  01246.0.00.03  BRASILIA  05545.0.00.03

<|1186043 |> ZIN C-PLATED F LAT W ASH ER  16x8,5x1,6 <| |>

    

BRASILIA  01290.0.00.03  

<T2

Knobs
T2>

<|1241542 |> BL ACK KN OB F OR  CON VER TER <|1241003 |> KN OB F OR W ATER /STEAM  TA P
square hole 5x5 mm for Coffee machine (EXPOBAR) EXPRESSO

  MINICOMPACT - MONROC
  for Coffee machine (VIBIEMME) EVOLUTION - KOMETA
  MINIMAX - REVOLUTION - SILVER

    

BRASILIA  BRASILIA  16883.0.00.02

<|1241540 |> SELEC TOR SW ITCH KNOB <| |>

    

BRASILIA  04404.0.00.02 BRASILIA  17196.0.00.02  

<T2

Lamps
T2>

<|1221509 |> G REEN L AM P CAP <|1221510 |> OR ANG E LA M P C AP
ø head 13 mm - ø hole 10 mm ø head 14 mm - ø hole 10 mm

    

BRASILIA  02628.0.00.02  BRASILIA  02627.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Level balls
T2>

<|1323200 |> STAINLESS STEEL BALL  ø 12 m m <|1323003 |> STAINLESS STEEL BALL  ø 8  m m
for Coffee machine (CONTI) CLASSICA - CLUB

  TWIN STAR2 - XEOS2
  for Coffee machine (ESSIKA)
  for Coffee machine (FAEMA) E61
  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
  DOSAPLUAS - DOSAPLUS - KOMETA - MERCURY
  MINIMAX - REPLICA - SILVER

    

BRASILIA  03785.0.00.03  BRASILIA  02227.0.00.03

<T2

Level gauges
T2>

<|1349070 |> F IT TING  ø  3/8"M  HOLE ø 12 m m <|1349008 |> LEVEL BODY
for level glass for Coffee machine (BIANCHI) SOFIA

 for Coffee machine (GAGGIA) D90 - E90 - XD - XE  
 for Coffee machine (VIBIEMME) CUBO - DOSAPLUS  
 EVOLUTION - KOMETA - MERCURY - MINIMAX  
 REPLICA - REVOLUTION - SILVER  

    

BRASILIA  00089.0.10.04  BRASILIA  00024.0.00.04 BRASILIA  11090.0.00.04

<|1520522 |> LEVEL GL ASS ø 11x135 m m  SILK -SCR EEN  PR IN <|1786037 |> STU F FING  GL AND  R IN G  ø 15x11.5x3 m m
for level glass

  for GAGGIA XE-XD-E90-D90
  for Coffee machine (GAGGIA) D90 - E90

    

BRASILIA  00787.0.00.02  BRASILIA  00088.0.00.04

<T2

Level regulators
T2>

<|1054529 |> LEVEL REG U LATOR   SM A  220V <|1054539 |> LEVEL REG U LATOR  N RL30/1E-2C/8 230V
for Coffee machine (BRASILIA) CLUB - LADY 230V 50/60Hz

  for Coffee machine (BRASILIA) CENTURY - GRADISCA
  PORTOFINO

    

BRASILIA  01878.2.00.08  BRASILIA  01871.2.00.08

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1054538 |> LEVEL REG U LATOR  230V <| |>

for Coffee machine (BRASILIA) CENTURY - GRADISCA
 PORTOFINO  

    

BRASILIA  09522.2.00.08  

<T2

Level sensors
T2>

<|3341011 |> LEVEL PR OBE ø 1/4"M  - 140 m m <|1341001 |> LEVEL PR OBE ø 1/4"M -125 m m
for Coffee machine (BIANCHI) LUCIA - SARA for Coffee machine (BRASILIA) GRADISCA - PORTOFINO

 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (FUTURMAT-ARIETE) F3  
 for Coffee machine (NUOVA SIMONELLI) MACCUP  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBARJUNIOR - DOMOBARSUPER - DOSAPLUS  
 EVOLUTION - KOMETA - LOLLO - MERCURY - MINIMAX  
 REPLICA - REVOLUTION - SILVER  
 for Coffee machine (WEGA) AIRY - ANTARES - ATLAS  
 NOVA - ORION - POLARIS  

    

BRASILIA  BRASILIA  00649.4.00.08

<|1341751 |> LEVEL PR OBE ø 1/4"M -150 m m <| |>

for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT-MOULIN - MINICOMPACT-1GRUPPO  
 MINICOMPACT-2GRUPPI - MONROC - OFFICE  
 for Coffee machine (SAN MARCO) NS85  

    

BRASILIA  

<T2

Lip seals
T2>

<|1186197 |> LIP SEAL ø 52x40x7 m m <| |>

    

BRASILIA  00807.0.00.02  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Microswitches
T2>

<|3240410 |> M ICRO SW ITCH 16A 250V <|3240449 |> BR ACKET M ICRO F300-45-55-65
for ANGELO PO OLD OVENS FC-FCV

 for ANGELO PO OVEN FC611G-FC611E-FC1011G-FC1011E  
 FC1211G-FC1211E  
 for ANGELO PO FRYER 030FE1-030FE1B-70FE  
 70FE1-70FE1B-70FES-70FES2-71FE-71FE2-71FE2B-30FES  
 30FES2-30FES2B-091FE28  
 for IMESA DRYER ES10-ES55-ES75  

 
for IMESA WASHING MACHINE
LM30-LM40-LM55-LM70-LM85

 

 RC30-RC40-RC55-RC70  
 for SIRMAN CUTTER C4-C6-C6VV-C9  
 for GRANDIMPIANTI DRYER EMS10-EMS15  
 for FAGOR CALENDER PE30/140-PE30/160-PE30/200  
 for FOINOX OVEN JO0611E-JO0611G-JO1011E-JO1011G  
 JO1021E-JO1021G-JO2011E-JO2011G-JO2021E-JO2021G  
 for IPSO CALENDER RI1600/30-RI1600/30AV  

    

BRASILIA  00654.2.00.08  

<|3240203 |> DO OR M ICR OSW ITCH  BU SHING <|3240236 |> LIM IT SW ITCH  CON TR OL
external ø 10x15 mm

    

<|3240234 |> LIM IT SW ITCH  PIN <|3240233 |> M ICROSW ITCH F ITTIN G  M 16x1.5 m m

    

<|3250071 |> M ICROSW ITCH SPR ING  ø 13x25 m m <|3240235 |> R IN G  NU T M 16x1.5 m m

    

<|3240123 |> M ICROSW ITCH 16A 250V <| |>

for Coffee machine (SAECO) RIOPROFI - VIAVENEZIA

    

BRASILIA  00751.2.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Motors
T2>

<|1240702 |> M OTOR  R PM  W ITH CLAM P CON NEC TION  165W <|1168011 |> STAINLESS STEEL CL AM P F OR  F LAN GE PU M P
model 11002728 for Coffee machine (VIBIEMME) CHIMAERA - CUBO

 power 165W 220V 50Hz  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
 capacitor 10 µf  MERCURY - MINIMAX - REPLICA - REVOLUTION
 for rotary vane pump  SILVER
 for Coffee machine (ASTORIA CMA) ARGENTA - BRAVA  
 COMPACT - DIVINA  
 for Coffee machine (AZKOYEN) AZ04 - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

BRASILIA  00600.4.00.08  BRASILIA  02223.0.00.03

<|1240601 |> R PM  M OTOR W ITH CLAM P CON NEC TION  330W <|1240602 |> R PM  M OTOR W ITH CLAM P CON NEC TION  330W
model 11053600 model 11053704

 power 330W 110/120V 60Hz  power 330W 220/240V 50/60Hz
 capacitor 16 µf  capacitor 10 µf
 for volumetric pump  for volumetric pump
 UL-USA approved  UL-USA approved

    

BRASILIA  BRASILIA  99006 BRASILIA  99006.4.00.08

<T2

Non-return and expansion valves
T2>

<|1523561 |> EXPAN SION  VALVE ø 1/4"M <|1523012 |> EXPAN SION  VALVE ø 1/4"M -3/8"M
for Coffee machine (ASTORIA CMA)

 for Coffee machine (FAEMA) DUEA - E61 - E64 - E66  
 E91 - E92 - P4 - P6  
 for Coffee machine (PAVONI) BAR - BART - PUB  
 for Coffee machine (SAN MARCO) 85  

    

BRASILIA  01182.4.00.09  BRASILIA  12845.4.00.09

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1523404 |> NO N-R ETU R N VALVE <|1523700 |> NO N-R ETU R N VALVE ø 1/8"M -1/8"M

for Coffee machine (RANCILIO) EPOCA1GR - S24 - S26
  S27

    

BRASILIA  08605.0.00.04  BRASILIA  01119.4.00.09

<T2

Nozzles for coffee groups
T2>

<|1501561 |> G ROU P SPR AY N OZZ LE ø 30 m m  M 10x1 <| |>

for Coffee machine (BRASILIA) GRADISCA
 for Coffee machine (FAEMA) E61  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (VFA EXPRES) ELITE - MAGESTIC  
 SPLENDOR  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - MERCURY - REPLICA - REVOLUTION  
 for Coffee machine (WEGA) MINI  

    

BRASILIA  04089.0.00.04  

<T2

OR and ORM gaskets
T2>

<|1186480 |> EPDM  O R ING  04112 <|1186625 |> G ASKET OR  03281 EPDM
for BOILER FAMILY

  for Coffee machine (BRASILIA) CLUB - LADY

    

BRASILIA  10178.0.00.02  BRASILIA  00843.0.00.02

<|1186643 |> G ASKET OR  04212 EPDM <|1186165 |> O-R ING  G ASKET M  0160-20 EPDM
for Coffee machine (CONTI) HYDROMATIC - PISTOMATIC

  VOLUTRONIC

    

BRASILIA  10909.0.00.03  BRASILIA  18682.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|3243009 |> O-R ING  G ASKET 0106 EPD M <|1186424 |> O-R ING  G ASKET 02062 EPD M

for Coffee machine (BRASILIA)

    

BRASILIA  00834.0.00.02  BRASILIA  01390.0.00.02

<|1186484 |> O-R ING  M  0140x20 N BR <|3060608 |> O-R ING  O3050 EPDM
for Coffee machine (CONTI) CLUB - TWIN STAR2

  XEOS2
  for Coffee machine (ESSIKA) SK2

    

BRASILIA  18514.0.00.02  BRASILIA  00839.0.00.02 BRASILIA  07001.0.00.02

<|1186556 |> O-R ING  R 6 EPDM <|1186864 |> O-R ING  0106 R ED  SILICONE
for Coffee machine (FAEMA) E61 for Coffee machine (DELONGHI) ECOV310AZ - EC300M

 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  ESAM5400
 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

BRASILIA  06349.0.00.02  BRASILIA  12003.0.00.02

<|1186422 |> O-R ING  0108 EPDM <|1186255 |> O-R ING  0109 EPDM
for Coffee machine (VIBIEMME) CUBO - DOSAPLUS

 KOMETA - MERCURY - MINIMAX - REPLICA - SILVER  

    

BRASILIA  00836.0.00.02  BRASILIA  00837.0.00.02

<|1186304 |> O-R ING  0112 EPDM <|1186626 |> O-R ING  0114 EPDM

    

BRASILIA  23588.0.00.02  BRASILIA  00802.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186414 |> O-R ING  0119 EPDM <|3186434 |> O-R ING  0121 EPDM

    

BRASILIA  00840.0.00.02 BRASILIA  01406.0.00.02  BRASILIA  06370.0.00.02

<|3186183 |> O-R ING  0128 EPDM <|1186591 |> O-R ING  0128 VITON
for Coffee machine (VIBIEMME) CUBO - DOMOBAR

  DOMOBARJUNIOR - DOMOBARSUPER - REPLICA

    

BRASILIA  08813.0.00.02  BRASILIA  12953.0.00.02

<|3186606 |> O-R ING  0144 EPDM <|1186198 |> O-R ING  0161 EPDM

    

BRASILIA  01368.0.00.02  BRASILIA  00845.0.00.02

<|1186199 |> O-R ING  0162 EPDM <|1186421 |> O-R ING  02018 EPDM
for Coffee machine (BRASILIA)

    

BRASILIA  00846.0.00.02  BRASILIA  00831.0.00.02 BRASILIA  01428.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186861 |> O-R ING  02018 R ED  SILICONE <|1186611 |> O-R ING  02025 R ED  SILICONE

for Coffee machine (AZKOYEN)
  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) CENTURY - FIRENZE
  GRADISCA - PORTOFINO
  for Coffee machine (CARIMALI) ETABETA
  for Coffee machine (CONTI) CLUB - TWIN STAR2
  XEOS2
  for Coffee machine (ESSIKA) SK2 - SSK2
  for Coffee machine (EXPOBAR) EXPRESSO
  MINICOMPACT - MONROC - OFFICE
  for Coffee machine (FAEMA) COMPACT - DUE - DUEA
  ELITE - E61 - E91 - E92
  for Coffee machine (FIORENZATO C.S.) MURANO
  for Coffee machine (RENEKA) LC - VIVA - VIVAS
  XLPALLAS

    

BRASILIA  11970.0.00.02  BRASILIA  00833.0.00.02 BRASILIA  07048.0.00.02

<|1186612 |> O-R ING  02025 VITON <|1186411 |> O-R ING  02031 EPDM
for Coffee machine (AZKOYEN)

 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2 - SSK2  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT - MONROC - OFFICE  
 for Coffee machine (FAEMA) COMPACT - DUE - DUEA  
 EXPRESS - E61 - E91 - E92  
 for Coffee machine (FIORENZATO C.S.) MURANO  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (RANCILIO) EPOCA - S24 - S26  
 S27  
 for Coffee machine (SAN MARCO) 85SPRINT - 95SPRINT  

    

BRASILIA  00833.0.00.02  BRASILIA  00835.0.00.02 BRASILIA  00847.0.00.02

<|1186803 |> O-R ING  02037 EPDM <|1186352 |> O-R ING  02050 EPDM
for Coffee machine (RANCILIO) CLASSE10

    

BRASILIA  00851.0.00.02  BRASILIA  01370.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1186223 |> O-R ING  02056 EPDM <|1186318 |> O-R ING  03043 EPDM

for Coffee machine (NUOVA SIMONELLI) MACCUP for Coffee machine (ASTORIA CMA) ARGENTA
 OPTIMA  for Coffee machine (CIMBALI) M15 - M20 - M27 - M30
  for Coffee machine (CONTI) CLASSICA PMS
  HYDROMATIC - PISTOMATIC - VOLUTRONIC
  for Coffee machine (EXPOBAR) EXPRESSO
  for Coffee machine (FAEMA) COMPACT - EXPRESS
  SPECIAL
  for Coffee machine (GAGGIA) D90 - E90
  for Coffee machine (VIBIEMME) CUBO - DOSAPLUS
  MINIMAX - REPLICA
  for Coffee machine (WEGA) MINI

    

BRASILIA  01389.0.00.02  BRASILIA  00838.0.00.02

<|1186356 |> O-R ING  03075 EPDM <|1186833 |> O-R ING  03100 EPDM
for Coffee machine (BRASILIA) GRADISCA for Coffee machine (BRASILIA) CENTURY - FIRENZE

 for Coffee machine (CIMBALI) M15 - M20 - M25 - M27  GRADISCA - PORTOFINO
 M30  
 for Coffee machine (FAEMA) COMPACT - EXPRESS  
 SPECIAL - SUPERSTAR - SUPERTRONIC  

    

BRASILIA  00800.0.00.02  BRASILIA  05825.0.00.02

<|1186759 |> O-R ING  03106 EPDM <|3160044 |> O-R ING  03187 EPDM
for Coffee machine (BEZZERA) LADY

    

BRASILIA  18529.0.00.02  BRASILIA  03182.0.00.02

<|1186655 |> O-R ING  04131 EPDM <|3186338 |> O-R ING  04143 EPDM
for Coffee machine (BEZZERA) ELLISSE

 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  

    

BRASILIA  00842.0.00.02  BRASILIA  13605.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|3186860 |> OR  G ASKET 03056 EPDM <|1186990 |> OR -G ASKET 04137 R ED  SILICONE

EX OR 0118
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2  

    

BRASILIA  00849.0.00.02  BRASILIA  11423.0.00.02 BRASILIA  12730.0.00.02

<|3186271 |> OR -G ASKET 04312 EPDM <|1186405 |> R ED  SILICONE O RING  03281

    

BRASILIA  10179.0.00.02 BRASILIA  14117.0.00.02 BRASILIA  18330.0.00.02  BRASILIA  11428.0.00.02

<T2

Paper seals
T2>

<|1190101 |> PA PER  SEAL ø 64x53x0.7 m m <|1190021 |> PA PER  SEAL ø 66x58x0.8 m m
for Coffee machine (SAN MARCO) EUROPA95 - NS85 for Coffee machine (ASTORIA CMA) ARGENTA

  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) CENTURY - PORTOFINO

    

BRASILIA  BRASILIA

<|1190051 |> PA PER  SEAL ø 70x57x0.8 m m <|1190011 |> PA PER  SEAL ø 72x58x0.8 m m
for Coffee machine (ASTORIA CMA) ARGENTA

 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  
 for Coffee machine (CIMBALI) M27 - M30  

    

BRASILIA  BRASILIA  04371.0.00.02

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1190001 |> PA PER  SEAL ø 73x59x0.8 m m <|1190002 |> R UB BER  SEAL ø 73x59x1 m m  EPDM

for Coffee machine (BRASILIA) GRADISCA for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS  DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER
 E61 - E64 - E66 - E91 - P4 - P6  DOSAPLUS - EVOLUTION - KOMETA - LOLLO
 for Coffee machine (GAGGIA) D90 - E90  MERCURY - MINIMAX - REPLICA - REVOLUTION
 for Coffee machine (PAVONI) BART  SILVER
 for Coffee machine (RANCILIO) CLASSE10 - EPOCA  
 for Coffee machine (VFA EXPRES) ELITE - MAGESTIC  
 SPLENDOR  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  
 for Coffee machine (WEGA) MINI  

    

BRASILIA  04368.0.00.02  BRASILIA

<|1190003 |> R UB BER  THICK NESS ø  70x57x1 m m  EPD M <| |>

    

BRASILIA  

<T2

Pins
T2>

<|1324048 |> CAM  R OD FOR  COF F EE G R OUP <|1324024 |> INF U SER  SPINDL E
for Coffee machine (VIBIEMME) CUBO - DOMOBAR

 DOMOBARJUNIOR - DOMOBARSUPER - REPLICA  

    

BRASILIA  09320.0.00.04  BRASILIA  04091.0.00.04

<|1324053 |> LEVER  G R OU P AR TICU LATION PIN  ø 9x28 m m <|1225004 |> M ICRO CON TR OL SPIND LE
for brew group

    

BRASILIA  02134.0.00.04  BRASILIA  13655.0.10.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1324200 |> PIN FOR  BEAR ING <|1348348 |> TAP  SW ITCHIN G  PIN

    

BRASILIA  02135.0.00.04  BRASILIA  02086.0.10.04

<T2

Pipes for coffee machines
T2>

<|1449009 |> INJECTOR  B REW  G R OUP  PIPE <|1348096 |> INJECTOR  P IP E
for BRASILIA GROUPS WITH LEVER for Coffee machine (EXPOBAR) EXPRESSO

  MINICOMPACT-1GRUPPO - MONROC - OFFICE

    

BRASILIA  04081.2.00.04  BRASILIA  00284.2.00.04

<T2

Pressure gauges
T2>

<|1245009 |> BOILER-PU M P PR ESSU RE G AUG E ø 63 m m <|1245532 |> BOILER-PU M P PR ESSU RE G AUG E ø 63 m m
double scale 0÷2,5/0÷15 bar - connections ø 1/8"M double scale 0÷2.5/0÷15 bar - connections ø 1/8"M

 rim ø 70 mm - body ø 63 mm  rim ø 70 mm - body ø 63 mm
 for Coffee machine (BRASILIA) GRADISCA  for Coffee machine (BEZZERA) ELLISSE

    

BRASILIA  00737.2.00.08 BRASILIA  04971.2.00.08 BRASILIA  04972.2.00.08  BRASILIA  06622.2.00.08

<|1245535 |> BOILER-PU M P PR ESSU RE G AUG E ø 63 m m <| |>

double scale 0÷2.5/0÷16 bar - connections ø 1/8"M
 rim ø 70 mm - body ø 63 mm  

    

BRASILIA  06555.2.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Pressure switches
T2>

<|1320533 |> M EM BR AN E KIT FOR  PR ESSU RE SW ITCH <|1320541 |> PR ESSU RE SW ITCH  PARK ER
model P302-6 ø 55 mm fitting ø 1/4"

 for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA  scale 0.5÷1.4 bar
 for Coffee machine (BEZZERA) ELLISSE  differential 0.18÷0.03 bar
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  pressure max 2.1 bar
 for Coffee machine (FAEMA) COMPACT - DUE - DUEA  temperature max 140°
 EXPRESS - E64 - E66 - E91 - E92 - P4 - P6  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA
 XL-PALLAS  LOLLO - MERCURY - MINIMAX - REPLICA
  REVOLUTION - SILVER

    

BRASILIA  BRASILIA

<|1320531 |> PR ESSU RE SW ITCH  P302/6 3-PO LES 30A <| |>

CE-SEV-ASE-UL approved
 ISO 228 G connection 1/4"M for pipe ø 4x6 mm  
 adjustable scale 0.5÷1.4 bar  
 fixed differential 0.15 (ÿ 0.06) bar  
 fluid temperature max :140°C  
 max contact  load : 220V  7KW (30A)  
 400V 12KW (30A)  
 for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (FAEMA) COMPACT - DUE - DUEA  
 EXPRESS - E64 - E66 - E91 - E92 - P4 - P6  
 for Coffee machine (RENEKA) VIVAS  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA  

    

BRASILIA  00630.4.00.08  

<T2

Probes
T2>

<|1397012 |> TEM PER ATU RE PR OBE ø 1/4" M <| |>

for Coffee machine (EXPOBAR) EXPRESSO

    

BRASILIA  20553.2.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Pull-through brushes
T2>

<|1384001 |> BR U SH  F OR COFF EE SH OW ER <| |>

    

BRASILIA  19523.0.00.02  

<T2

Relays
T2>

<|3351154 |> BASE OC TAL ES8 10A 400V <| |>

8 poles

    

BRASILIA  01810.2.00.08  

<T2

Rotary switches
T2>

<|1319531 |> SELEC TOR SW ITCH 0-2 POSITION S 16A  600V <|1319012 |> SELEC TOR SW ITCH 0-2 POSITION S 20A  690V
square pin 5x5 mm square pin 5x5 mm

 for Coffee machine (BRASILIA) CAPPUCCINO - CENTURY  for Coffee machine (BRASILIA) BELLEEPOQUE
 CENTURY RESTYLING - CLASSICA - DECURTIS  FIRENZESL - ROMA
 FIRENZE - GRADISCA - GRADISCA RESTYLING  
 MULTICOFFE - PORTOFINO - PORTOFINO AMERICA  
 PORTOFINO RESTYLING - 100 - 105 - 205  
 205EXCLUSIVE - 205RB03 - 210  

    

BRASILIA  04890.2.00.08 BRASILIA  04990.2.00.08 BRASILIA  04991.2.00.08  BRASILIA  00674.2.00.08 BRASILIA  00675.2.00.08 BRASILIA  17213.2.00.08

BRASILIA  24442.8.00.09  

<|1057531 |> SELEC TOR SW ITCH 0-5 POSITION S <| |>

D-shaped shaft 6x4.6 mm
 for Coffee machine (BRASILIA) BELLEEPOQUE  

    

BRASILIA  01814.2.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Rubberpieces for steam-water taps
T2>

<|1186339 |> BU R N P REVENTIN G  PIPE HA ND GR IP ø 8 m m <|1186180 |> BU R N P REVENTIN G  R UB BER PIECE ø 10 m m
for Coffee machine (CONTI) CLUB - TWIN STAR2

 XEOS2  
 for Coffee machine (ESSIKA) SK2  
 for Coffee machine (FAEMA) DUE - E91  

    

BRASILIA  12954.0.00.02  BRASILIA  15692.0.00.02

<|1186080 |> STEAM  PIPE CLIP ø 10 m m <| |>

    

BRASILIA  11972.0.00.02  

<T2

Shower screens for brew group
T2>

<|1460201 |> PR ECISION  SHOW ER  SCR EEN  ø 60 m m <|1460206 |> PR ECISION  SHOW ER  SCR EEN  ø 60 m m
98 holes ø 3 mm 120 holes ø 2.5 mm

 Aisi 304 stainless steel - food-safe certified  Aisi 304 stainless steel - food-safe certified
 integrated membrane 200 µM  woven membrane 35 µM
 for GROUPS E61  for GROUPS E61
 for Coffee machine (ASCASO)  for Coffee machine (ASCASO)
 for Coffee machine (BEZZERA)  for Coffee machine (BEZZERA)
 for Coffee machine (BFC)  for Coffee machine (BFC)
 for Coffee machine (BIANCHI)  for Coffee machine (BIANCHI)
 for Coffee machine (BRASILIA)  for Coffee machine (BRASILIA)
 for Coffee machine (CASADIO)  for Coffee machine (CASADIO)
 for Coffee machine (ECM)  for Coffee machine (ECM)
 for Coffee machine (EXPOBAR)  for Coffee machine (EXPOBAR)
 for Coffee machine (FAEMA)  for Coffee machine (FAEMA)
 for Coffee machine (FIORENZATO C.S.)  for Coffee machine (FIORENZATO C.S.)
 for Coffee machine (GRIMAC)  for Coffee machine (GRIMAC)

    

BRASILIA  BRASILIA

<|1081516 |> SHOW ER  ø 60 m m <|1081002 |> SHOW ER ø 51 m m
for Coffee machine (VIBIEMME) CHIMAERA - CUBO for Coffee machine (BRASILIA) CENTURY - CLUB

 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  LADY - PORTOFINO - ROMA
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  for Coffee machine (ELEKTRA) MINIVERTICALE
 MERCURY - MINIMAX - REPLICA - REVOLUTION  

    

BRASILIA  BRASILIA  00562.0.40.01

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1081009 |> SHOW ER ø 61 m m <|1081039 |> SHOW ER SCR EEN ø 34 m m

for Coffee machine (BRASILIA) MINIPOD

    

BRASILIA  11362.0.40.01  BRASILIA  06216.0.40.01 BRASILIA  06216.0.40.04

<|1081016 |> SHOW ER SCR EEN ø 60 m m <| |>

for Coffee machine (BRASILIA) GRADISCA
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT - MONROC  
 for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS  
 E61 - E64 - E66 - E91 - P4 - P6  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (VFA EXPRES) ELITE - MAGESTIC  
 SPLENDOR  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 for Coffee machine (WEGA) MINI  

    

BRASILIA  04214.0.40.01  

<T2

Solenoid valves
T2>

<|1120332 |> COIL LU CIF ER /PA RKER  220/240V 9W  50Hz <|3120032 |> COIL PAR KER ZB09 9W  220/240V 50/60Hz
width 32 mm - height 38 mm width 34 mm - height 33 mm

 depth 43 mm  depth 43 mm
 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (ASTORIA CMA)
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (CONTI) CLUB - TWIN STAR2  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 XEOS2  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (ESSIKA) SK2 - SSK2  XEOS2
 for Coffee machine (FAEMA) COMPACT - DUEA  for Coffee machine (ESSIKA) SK2 - SSK2
 EXPRESS - E61 - E91  for Coffee machine (FAEMA) COMPACT - DUEA
 for Coffee machine (FIORENZATO C.S.) MURANO  EXPRESS - E61 - E91
 for Coffee machine (PAVONI) BART  for Coffee machine (FIORENZATO C.S.) MURANO
 for Coffee machine (RANCILIO) EPOCA  for Coffee machine (PAVONI) BART
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  for Coffee machine (RENEKA) LC - VIVA - VIVAS
 XLPALLAS  XLPALLAS
 for Coffee machine (SAN MARCO) EUROPA95 - NS85  for Coffee machine (VIBIEMME)

    

BRASILIA  BRASILIA

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1240731 |> PERM ANENT M AG NET <|1120340 |> 2-W AY SO LEN OID VALVE OLA B 230V  50H z

for Coffee machine (BEZZERA) ELLISSE coil 6000 6000BH/K5FV 9VA 230V 50Hz
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  for Coffee machine (BRASILIA)
 for Coffee machine (PAVONI) BART  for Coffee machine (CONTI) TWIN STAR - XEOS
  for Coffee machine (ESSIKA)

    

BRASILIA  BRASILIA  09436.4.00.08

<|1120334 |> 3-W AY M ECH ANIC AL COM PONEN T LU CIF ER <|1120339 |> 3-W AY M ECH ANIC AL COM PONEN T PAR KER
E131F4304G - drain ø 1/8" conical - max 10 bar VE128IR - drain ø 1/8" conical - max 10 bar

 RUBY seal - orifice ø 1.5 mm  RUBY seal - orifice ø 1.3 mm
 fluid temperature -30°C+140°C  fluid temperature -30°C+140°C
 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (CONTI) CLUB - TWIN STAR2  for Coffee machine (CONTI) CLUB - TWIN STAR2
 XEOS2  XEOS2
 for Coffee machine (ESSIKA) SK2 - SSK2  for Coffee machine (ESSIKA) SK2 - SSK2
 for Coffee machine (FAEMA) COMPACT - DUEA  for Coffee machine (FAEMA) COMPACT - DUEA
 EXPRESS - E61 - E91 - E92  EXPRESS - E61 - E91 - E92
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (FIORENZATO C.S.) MURANO
 for Coffee machine (PAVONI) BART  for Coffee machine (PAVONI) BART
 for Coffee machine (RANCILIO) EPOCA  for Coffee machine (RENEKA) LC - VIVA - VIVAS
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  XLPALLAS
 XLPALLAS  for Coffee machine (VIBIEMME) CHIMAERA - CUBO
 for Coffee machine (SAN MARCO) EUROPA95 - NS85  DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA

    

BRASILIA  BRASILIA

<|1120006 |> 3-W AY SO LEN OID VALVE ASSY 230V 50H <| |>

with stainless steel coating

    

BRASILIA  09519.2.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1120330 |> 3-W AY SO LEN OID VALVE LU CIFER 240V 50H z <|1120332 |> COIL LU CIF ER /PA RKER  220/240V 9W  50Hz

E131F4304 - drain ø 1/8" conical - max 10 bar width 32 mm - height 38 mm
 RUBY seal - orifice ø 2.5 mm  depth 43 mm
 with coil 483510S6 9W 220/240V 50/60Hz  for Coffee machine (BEZZERA) ELLISSE
 fluid temperature -40°C+140°C  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (CONTI) CLUB - TWIN STAR2  XEOS2
 XEOS2  for Coffee machine (ESSIKA) SK2 - SSK2
 for Coffee machine (ESSIKA) DUEA - ELITE  for Coffee machine (FAEMA) COMPACT - DUEA
 EUROPA95 - EXPRESS - E61 - E91 - E92 - SK2  EXPRESS - E61 - E91
 SSK2  for Coffee machine (FIORENZATO C.S.) MURANO
 for Coffee machine (FAEMA) COMPACT  for Coffee machine (PAVONI) BART
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (RANCILIO) EPOCA
 for Coffee machine (PAVONI) BART  for Coffee machine (RENEKA) LC - VIVA - VIVAS
 for Coffee machine (RANCILIO) EPOCA  XLPALLAS
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  for Coffee machine (SAN MARCO) EUROPA95 - NS85

    

BRASILIA  01947.4.00.08  BRASILIA

<|1120334 |> 3-W AY M ECH ANIC AL COM PONEN T LU CIF ER <| |>

E131F4304G - drain ø 1/8" conical - max 10 bar
 RUBY seal - orifice ø 1.5 mm  
 fluid temperature -30°C+140°C  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2 - SSK2  
 for Coffee machine (FAEMA) COMPACT - DUEA  
 EXPRESS - E61 - E91 - E92  
 for Coffee machine (FIORENZATO C.S.) MURANO  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (RANCILIO) EPOCA  
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  
 XLPALLAS  
 for Coffee machine (SAN MARCO) EUROPA95 - NS85  

    

BRASILIA  

<|1120004 |> 3-W AY SO LEN OID VALVE OLA B 230V 50Hz <|1120211 |> COIL O LAB 8000BH /J5IV 220/230VAC 50Hz
outlet ø 7 mm width 30 mm - height 39 mm

 coil 8000BH/J5IV 15VA 220/230V 50Hz  depth 41 mm

    

BRASILIA  01984.4.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1120101 |> 3-W AY SO LEN OID VALVE PA RKER  115V 50/60Hz <|1120336 |> COIL PAR KER ZB09 9W  110/120V 50/60Hz

VE128IR - drain ø 1/8" conical - max 10 bar width 34 mm - height 33 mm
 RUBY seal - orifice ø 1.3 mm  depth 43 mm
 with coil ZB09 9W 110/120V 50/60Hz  
 fluid temperature -40°C+140°C  

    

BRASILIA  

<|1120339 |> 3-W AY M ECH ANIC AL COM PONEN T PAR KER <| |>

VE128IR - drain ø 1/8" conical - max 10 bar
 RUBY seal - orifice ø 1.3 mm  
 fluid temperature -30°C+140°C  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2 - SSK2  
 for Coffee machine (FAEMA) COMPACT - DUEA  
 EXPRESS - E61 - E91 - E92  
 for Coffee machine (FIORENZATO C.S.) MURANO  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  
 XLPALLAS  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA  

    

BRASILIA  

<|1120321 |> 3-W AY SO LEN OID VALVE PA RKER  230V 50/60Hz <|3120032 |> COIL PAR KER ZB09 9W  220/240V 50/60Hz
VE141BV - drain ø 1/8" conical - fittings ø 1/8"F width 34 mm - height 33 mm

 VITON seal - orifice ø 2 mm  depth 43 mm
 with coil ZB09 9W 220/230V 50/60Hz  for Coffee machine (ASTORIA CMA)
 fluid temperature -40°C+140°C  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
  for Coffee machine (CONTI) CLUB - TWIN STAR2
  XEOS2
  for Coffee machine (ESSIKA) SK2 - SSK2
  for Coffee machine (FAEMA) COMPACT - DUEA
  EXPRESS - E61 - E91
  for Coffee machine (FIORENZATO C.S.) MURANO
  for Coffee machine (PAVONI) BART
  for Coffee machine (RENEKA) LC - VIVA - VIVAS
  XLPALLAS
  for Coffee machine (VIBIEMME)

    

BRASILIA  03619.4.00.08  BRASILIA

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1120335 |> 3-W AY SO LEN OID VALVE PA RKER  230V 50/60Hz <|3120032 |> COIL PAR KER ZB09 9W  220/240V 50/60Hz

VE128IR - drain ø 1/8" conical - max 10 bar width 34 mm - height 33 mm
 RUBY seal - orifice ø 1.3 mm  depth 43 mm
 with coil ZB09 9W 220/230V 50/60Hz  for Coffee machine (ASTORIA CMA)
 fluid temperature -30°C+140°C  for Coffee machine (BEZZERA) ELLISSE
 for Coffee machine (BEZZERA) ELLISSE  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
 for Coffee machine (BRASILIA) CENTURY - PORTOFINO  for Coffee machine (CONTI) CLUB - TWIN STAR2
 for Coffee machine (CONTI) CLUB - TWIN STAR2  XEOS2
 XEOS2  for Coffee machine (ESSIKA) SK2 - SSK2
 for Coffee machine (ESSIKA) SK2 - SSK2  for Coffee machine (FAEMA) COMPACT - DUEA
 for Coffee machine (FAEMA) COMPACT - DUEA  EXPRESS - E61 - E91
 EXPRESS - E61 - E91 - E92  for Coffee machine (FIORENZATO C.S.) MURANO
 for Coffee machine (FIORENZATO C.S.) MURANO  for Coffee machine (PAVONI) BART
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  for Coffee machine (RENEKA) LC - VIVA - VIVAS
 XLPALLAS  XLPALLAS
  for Coffee machine (VIBIEMME)

    

BRASILIA  01947.4.00.08  BRASILIA

<|1120339 |> 3-W AY M ECH ANIC AL COM PONEN T PAR KER <| |>

VE128IR - drain ø 1/8" conical - max 10 bar
 RUBY seal - orifice ø 1.3 mm  
 fluid temperature -30°C+140°C  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CONTI) CLUB - TWIN STAR2  
 XEOS2  
 for Coffee machine (ESSIKA) SK2 - SSK2  
 for Coffee machine (FAEMA) COMPACT - DUEA  
 EXPRESS - E61 - E91 - E92  
 for Coffee machine (FIORENZATO C.S.) MURANO  
 for Coffee machine (PAVONI) BART  
 for Coffee machine (RENEKA) LC - VIVA - VIVAS  
 XLPALLAS  
 for Coffee machine (VIBIEMME) CHIMAERA - CUBO  
 DOMOBARSUPER - DOSAPLUS - EVOLUTION - KOMETA  

    

BRASILIA  

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1120351 |> 3-W AY SO LEN OID VALVE PA RKER  230V 50/60Hz <|3120032 |> COIL PAR KER ZB09 9W  220/240V 50/60Hz

VE128GR - drain ø 1/8" cylindrical - max 10 bar width 34 mm - height 33 mm
 RUBY seal - orifice ø 1.3 mm  depth 43 mm
 with coil ZB09 9W 220/230V 50/60Hz  for Coffee machine (ASTORIA CMA)
 fluid temperature -30°C+140°C  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) CENTURY - PORTOFINO
  for Coffee machine (CONTI) CLUB - TWIN STAR2
  XEOS2
  for Coffee machine (ESSIKA) SK2 - SSK2
  for Coffee machine (FAEMA) COMPACT - DUEA
  EXPRESS - E61 - E91
  for Coffee machine (FIORENZATO C.S.) MURANO
  for Coffee machine (PAVONI) BART
  for Coffee machine (RENEKA) LC - VIVA - VIVAS
  XLPALLAS
  for Coffee machine (VIBIEMME)

    

BRASILIA  BRASILIA

<|1120306 |> 3-W AY SO LEN OID VALVE SIR AI 230V 50H z <|1120008 |> COIL SIR AI Z A30A 9W  230V 50Hz
L334C18C - scarico ø 1/8" conico - max 13 bar width 30 mm - height 39 mm

 RUBY seal - orifice 1,6 mm  depth 41 mm
 coil ZA30A 9W 230V 50Hz 14VA  
 for Coffee machine (BEZZERA) ELLISSE TE  
 for Coffee machine (FAEMA) COMPACT - DUEA - ELITE  
 EXPRESS - E91 - E92  

    

BRASILIA  16194.4.00.08 BRASILIA  22709.4.00.08  

<T2

Spouts for coffee
T2>

<|1022522 |> AD JU STABLE LON G  DOU BLE SPOU T ø 3/8" <|1022502 |> DO UBL E SPOU T ø 3/8"
for Coffee machine (BEZZERA) ELLISSE for Coffee machine (ASTORIA CMA) DIVINA

 for Coffee machine (BRASILIA) CENTURY - GRADISCA  for Coffee machine (AZKOYEN) AZ04 - VIENNA
 PORTOFINO  for Coffee machine (BEZZERA) ELLISSE
  for Coffee machine (BRASILIA) CENTURY - GRADISCA
  PORTOFINO
  for Coffee machine (CIMBALI) M27 - M30
  for Coffee machine (CONTI)
  for Coffee machine (ESSIKA)
  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
  E61 - E64 - E66 - E91 - P4 - P6
  for Coffee machine (GAGGIA) D90 - E90
  for Coffee machine (NUOVA SIMONELLI) MACCUP
  for Coffee machine (PAVONI) BAR - BART - PUB
  for Coffee machine (RANCILIO) EPOCA
  for Coffee machine (SAN MARCO) EUROPA95 - NS85

    

BRASILIA  BRASILIA  00031.4.00.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1022524 |> DO UBL E SPOU T ø 3/8" <|1022501 |> SIN G LE SPO UT ø 3/8"

for Coffee machine (BEZZERA) ELLISSE for Coffee machine (ASTORIA CMA) DIVINA
 for Coffee machine (BRASILIA) LADY  for Coffee machine (AZKOYEN) AZ04 - VIENNA
 for Coffee machine (CONTI) CLUB - TWIN STAR2  for Coffee machine (BEZZERA) ELLISSE
 XEOS2  for Coffee machine (BRASILIA) CENTURY - GRADISCA
 for Coffee machine (ESSIKA) SK2 - SSK2  PORTOFINO
  for Coffee machine (CIMBALI) M27 - M30
  for Coffee machine (CONTI)
  since  1/11/03
  TWIN STAR2
  for Coffee machine (FAEMA) COMPACT - DUE - DUEA
  EXPRESS - E61 - E64 - E66 - E91 - P4 - P6
  for Coffee machine (GAGGIA) D90 - E90
  for Coffee machine (NUOVA SIMONELLI) MACCUP
  for Coffee machine (PAVONI) BAR - BART - PUB
  for Coffee machine (RANCILIO) EPOCA

    

BRASILIA  00036.0.10.04  BRASILIA  00056.0.00.04

<|1022550 |> SIN G LE SPO UT ø 3/8" <|1022503 |> STR AIG HT SIN G LE SPOU T ø 3/8"
for Coffee machine (BEZZERA) ELLISSE

  for Coffee machine (BRASILIA) CENTURY - GRADISCA
  PORTOFINO
  for Coffee machine (CIMBALI) M27 - M30
  for Coffee machine (CONTI) CLUB - TWIN STAR2
  XEOS2
  for Coffee machine (ESSIKA) SK2 - SSK2
  for Coffee machine (FAEMA) COMPACT - DUE - EXPRESS
  E61 - E64 - E66 - E91 - P4 - P6
  for Coffee machine (GAGGIA) D90 - E90
  for Coffee machine (NUOVA SIMONELLI) MACCUP
  for Coffee machine (RANCILIO) EPOCA
  for Coffee machine (SAN MARCO) EUROPA95 - NS85
  for Coffee machine (VFA EXPRES) ELITE - MAGESTIC
  SPLENDOR

    

BRASILIA  08275.0.00.04  BRASILIA  00032.0.10.04

<|5031337 |> 1-CU P STR AIG HT SHOR T SPOU T ø 3/8" <| |>

    

BRASILIA  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Springs
T2>

<|1250101 |> F ILTER  B LOCK IN G  SPRIN G ø 1,00 m m  IN OX <|1250548 |> INF U SION  SPRIN G ø 11x58 m m
for Coffee machine (VIBIEMME) CHIMAERA - CUBO

 DOMOBAR - DOMOBARJUNIOR - DOMOBARSUPER  
 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

BRASILIA  00862.0.00.03 BRASILIA  02233.0.00.03  BRASILIA  03788.0.00.03

<|1250501 |> LEVER  G R OU P SPRIN G <|1250201 |> NO N-R ETU R N VALVE SPRIN G ø 8x20 m m
external ø 46 mm - height 141 mm

    

BRASILIA  02222.0.00.03  BRASILIA  05538.0.00.03

<|1250202 |> NO N-R ETU R N VALVE SPRIN G ø 8x30 m m <|1250011 |> R UB BER PIECE LOCKING  SPR ING  ø 14,6x21 m m
for Coffee machine (VIBIEMME) CHIMAERA - CUBO

 DOSAPLUS - EVOLUTION - KOMETA - LOLLO  
 MERCURY - MINIMAX - REPLICA - REVOLUTION  
 SILVER  

    

BRASILIA  00870.0.00.03  BRASILIA  12941.0.00.03

<|1250002 |> S/STEEL FILTER  LOCKING  SPR ING  ø 1.20 m m <|1250074 |> SPRIN G ø 10.5x27 m m

    

BRASILIA  07835.0.00.03  BRASILIA  10962.0.00.03

<|1250203 |> SPRIN G ø 11x30 m m <|1250005 |> SPRIN G ø 12,5x28 m m

    

BRASILIA  00884.0.00.03  BRASILIA  00866.0.00.03

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1250151 |> SPRIN G ø 12x15 m m  F OR STEAM  PIPE <|1250515 |> SPRIN G ø 14x33 m m

for Coffee machine (VIBIEMME) KOMETA for Coffee machine (VIBIEMME) CUBO - DOMOBAR
  DOMOBARJUNIOR - DOMOBARSUPER - KOMETA
  MERCURY - MINIMAX - REPLICA - SILVER

    

BRASILIA  07060.0.00.03  BRASILIA  08953.0.00.03

<|1250537 |> SPRIN G ø 14x45 m m <|1250521 |> SPRIN G ø 15x17 m m
for Coffee machine (VIBIEMME) CUBO - DOMOBAR for Coffee machine (VIBIEMME) CHIMAERA - CUBO

 DOMOBARJUNIOR - DOMOBARSUPER - REPLICA  DOSAPLUS - REPLICA

    

BRASILIA  08952.0.00.03  BRASILIA  00879.0.00.03

<|1250204 |> TAP  R OD SPR ING  ø 7x33 m m <| |>

    

BRASILIA  02218.0.00.03 BRASILIA  17694.0.00.03  

<T2

Steam taps and spares for coffee mach.
T2>

<|1348334 |> AR TICU LATION SCREW <|1348330 |> BAR  TAP ASSEM BLY
for Coffee machine (BRASILIA) CENTURY - FIRENZE

 GRADISCA - PORTOFINO - VALETTA  

    

BRASILIA  00107.0.10.04 BRASILIA  00107.4.00.04  BRASILIA  01169.6.00.09

<|1348344 |> CHR OM IU M -PL ATED  NU T 3/8 <|1449015 |> F IT TING  F OR  EX TENSION

    

BRASILIA  00145.0.10.04  BRASILIA  04653.0.00.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1349064 |> NU T 3/8"  FO R W ATER STEAM  P IPE <|1348356 |> R UB BER  SEAL TAP 2000

for Coffee machine (BRASILIA) CENTURY - FIRENZE
  GRADISCA - PORTOFINO

    

BRASILIA  06509.0.00.04  BRASILIA  11927.4.00.09

<|1186670 |> STEAM  PIPE BU SH ING  ø 12x5 m m <|1348034 |> TAP  ASSEM BLY CLUB
for Coffee machine (VIBIEMME) KOMETA

    

BRASILIA  06508.0.00.04  BRASILIA  00162.0.00.04

<|1348053 |> TAP  BOD Y <|1348021 |> TAP  BOD Y LAD Y

    

BRASILIA  00109.0.00.04  BRASILIA  02169.0.00.04

<|1348019 |> TAP  BOD Y W ITH RU BBER  SEALIN G <|1186668 |> W ATER/STEA M  PIPE BU SHIN G ø 12x5 m m

    

BRASILIA  12010.0.00.04  BRASILIA  11029.0.00.04

<|1348056 |> W ATER/STEA M  TAP <| |>

for Coffee machine (BFC) CLASSICA - LIRA - MONZA
 for Coffee machine (ECM) MICHELANGELO - RAFFAELLO  
 for Coffee machine (ROYAL)  
 for Coffee machine (SAB ITALIA) JOLLY  
 for Coffee machine (SANREMO) CAPRI - MILANO - SED  
 VENEZIA  

    

BRASILIA  21459.4.00.09  

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Steam-water pipes coffee machines
T2>

<|1449012 |> COM PLETE W ATER  PIPE <|1449343 |> COM PLETE W ATER  PIPE
for Coffee machine (BRASILIA) CENTURY - GRADISCA for Coffee machine (BRASILIA) CENTURY

 PORTOFINO  CENTURY AMERICA - FIRENZE - GRADISCA
 for Coffee machine (FIORENZATO C.S.) FENICE  PORTOFINO - VALETTA
 MURANO - PIAZZASANMARCO - RIALTO  
 for Coffee machine (GRIMAC) G10  

    

BRASILIA  13519.4.00.09  BRASILIA  04656.2.10.04 BRASILIA  12057.4.00.09

<|1449020 |> STEAM  NOZ ZLE <|1449335 |> STEAM  PIPE COM PLETE
for Coffee machine (BRASILIA) BARAMERICA - CENTURY

  FIRENZE - GRADISCA - PORTOFINO - VALETTA

    

BRASILIA  00039.0.10.04  BRASILIA  00260.2.10.04 BRASILIA  12056.4.00.09 BRASILIA  12058.4.00.09

<|1449344 |> STEAM  PIPE COM PLETE <|1449331 |> W ATER PIPE
for Coffee machine (BRASILIA) GRADISCA for Coffee machine (BRASILIA) BARAMERICA - CENTURY

  FIRENZE - GRADISCA - PORTOFINO
  PORTOFINO AMERICA - VALETTA

    

BRASILIA  10767.2.10.04 BRASILIA  12060.4.00.09  BRASILIA  00259.2.10.04 BRASILIA  04656.2.10.04 BRASILIA  12055.4.00.09

<|1449018 |> W ATER PIPE NOZ ZLE <|1449332 |> W ATER PIPE NOZ ZLE
for GAGGIA DECO

  for BIANCHI HORECA SOFIA
  for Coffee machine (ORCHESTRALE) ETNICA - PHONICA
  for Coffee machine (VIBIEMME) DOSAPLUS - LOLLO
  MERCURY - REPLICA

    

BRASILIA  05004.4.00.09  BRASILIA  04661.0.10.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:

<T2

Switches
T2>

<|1319005 |> BIPOL AR SW ITCH 16A  250V <|3319294 |> BL ACK BIPOL AR  SW ITCH  16A 250V
for Coffee machine (GRIMAC) DADAVAPORDOUBLE - MAXI with red led indicator light

 SWEET  mounting hole 30x22 mm
 for Coffee machine (PAVONI) MICROPOD  for Coffee machine (GRIMAC) MIA - NEWCIALDAVAPOR
 for Coffee machine (RDL) MINI - MINICAP  VAPORDOUBLE
 for Coffee machine (SPINEL) FLAVIA - LOLA  
 LOLAELITE - LOLITA - LOLITAELITE - PINOCCHIO  
 RONDO - RONDOLUX - TOUR  
 for Coffee machine (VIBIEMME) DOMOBARSUPER  
 EVOLUTION - REPLICA - REVOLUTION  

    

BRASILIA  VEINTCMBIP.08  BRASILIA  08474.2.00.08

<|1319610 |> CON TR OL-B OX P.BU T.PAN EL 6 BU TTONS <|1319464 |> OR ANG E BIPOL AR SW ITCH 16A  250V
for Coffee machine (BRASILIA) with indicator lamp

 till 31/12/96  mounting hole ø 25 mm
 CAPPUCCINO  

    

BRASILIA  05475.2.00.08  BRASILIA  01975.2.00.08 BRASILIA  01976.2.00.08

<|3319320 |> OR ANG E BIPOL AR SW ITCH 16A  250V <|3319934 |> OR ANG E BIPOL AR SW ITCH 16A  250V
silk-screen printing  0 - I with indicator lamp

 mounting hole 13x20 mm  0-1 silk-screen printing
  max temperature 120°C
  mounting hole 22x30 mm

    

BRASILIA  14478.2.00.08 BRASILIA  20050.2.00.08  BRASILIA  03632.2.00.08

<|1319088 |> PU SH-BU TTO N PANEL 6 BU TTONS <|1319583 |> PU SH-BU TTO N PANEL 6 BU TTONS
for Coffee machine (BRASILIA) GRADISCA RESTYLING

 PORTOFINO RESTYLING - 205RB03  

    

BRASILIA  13123.4.00.08  BRASILIA  12583.2.00.08

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1319539 |> R ED  BIPOL AR PU SH  BU TTON  16A 250V <|1319614 |> R ED  BIPOL AR PU SH  BU TTON  16A 250V

with indicator lamp with indicator lamp
 mounting hole ø 25 mm  mounting hole ø 25 mm

    

BRASILIA  00662.2.00.08  BRASILIA  00660.2.00.08

<|1319619 |> R ED  BIPOL AR PU SH  BU TTON  16A 250V <|1319611 |> R ED  BIPOL AR SW ITCH 16A  250V
mounting hole ø 25 mm with indicator lamp

  silk-screen printing "coffee cup"
  mounting hole 22x30 mm
  for Coffee machine (BRASILIA) LADY - MINI

    

BRASILIA  00661.2.00.08  BRASILIA  06534.2.00.08

<|1319612 |> R ED  BIPOL AR SW ITCH 16A  250V <|3319019 |> R ED  BIPOL AR SW ITCH 16A  250V
with indicator light with indicator lamp

 silk-screen printing "flash"  max temperature 120°C
 temperature max 120°C  mounting hole 22x30 mm
 mounting hole 22x30 mm  
 for Coffee machine (BRASILIA) LADY - MINI  

    

BRASILIA  07545.2.00.08  BRASILIA  03632.2.00.08

<|3319948 |> R ED  BIPOL AR SW ITCH 16A  250V <|3319151 |> SW ITCH  PR OTECTION CAP
with indicator lamp ø external 34 mm

 max. temperature 120°C  for push-buttons with mounting hole ø 25 mm
 mounting hole ø 25 mm  
 for Coffee machine (GAGGIA) DECO - GD - GE - XD  
 XE  
 for Coffee machine (VIBIEMME) DOMOBAR - DOSAPLUS  
 KOMETA - MERCURY - SILVER  

    

BRASILIA  00663.2.00.08  

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|3319921 |> SIN G LE-POLE SW ITCH 16A 250V <|3319923 |> BL ACK/R ED  CA M

for Coffee machine (GAGGIA) XE
 for Coffee machine (GRIMAC) DADAVAPORDOUBLE  

    

BRASILIA  VEINTCMUNI.08  

<T2

Tampers for coffee
T2>

<|1385053 |> AN ODISED  ALUM IN U M  TAM PER  ø 58 m m <|1385005 |> BALL ALU M IN UM  TAM PER  ø 57 m m
flat pressing area

    

BRASILIA  BRASILIA

<|1385002 |> NYLON  CO FF EE TAM PER  ø 50/57 m m <| |>

    

BRASILIA  00779.0.00.02  

<T2

Terminals
T2>

<|1455033 |> CON NECTOR FEM ALE SM ALL <|3120034 |> F EM A LE LAR G E CONN EC TOR
for volumetric flowmeter for coils

 for Coffee machine (AZKOYEN) AZ04 - BRAVO - VIENNA  
 for Coffee machine (BEZZERA) ELLISSE  
 for Coffee machine (CIMBALI) M15 - M20 - M27 - M30  
 for Coffee machine (EXPOBAR) EXPRESSO  
 MINICOMPACT - MONROC - OFFICE  
 for Coffee machine (FAEMA) COMPACT - DUEA - ELITE  
 EXPRESS - E92  

    

BRASILIA  09013.0.00.08 BRASILIA  09013.2.00.08  BRASILIA  00697.4.00.08

<T2

Thermocouples and accessories
T2>

<|3440064 |> NU T F OR THER M OCOU PLE M 8x1 <|3440011 |> SLOT TED FITTING  M 9x1

    

BRASILIA  BRASILIA

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|3440027 |> THERM OCOU PLE SIT  M 8x1 32 cm <|3440051 |> THERM OCOU PLE SIT  M 8x1 32 cm .TH READ M 8x1

    

BRASILIA  02304.2.00.08  BRASILIA

<|3440028 |> THERM OCOU PLE SIT  M 8x1 60 cm <|3440053 |> THERM OCOU PLE SIT  M 8x1 60 cm  THR EA D M 8x1

    

BRASILIA  BRASILIA

<T2

Vibrating pumps
T2>

<|1331023 |> SQUAR E DAM PER  EX-EP-EK-EA <|1331018 |> VIBR ATOR Y PU M P EP4 48W  230V 50H z
for Coffee machine (VIBIEMME) DOMOBAR fittings ø 1/8"- ø 6 mm

 DOMOBARJUNIOR - DOMOBARSUPER  pressure max 20 bar
  water temperature max 20°C
  integrated diode (1N 4007P)
  lead connector 6.3x0.8 mm

    

BRASILIA  01436.0.00.02  BRASILIA  20970.4.00.08

<|1122737 |> VIBR ATOR Y PU M P EP5 48W  230V 50H z <|1122738 |> VIBR ATOR Y PU M P EP5 48W  24V 50/60H z
fittings ø 1/8"- ø 6 mm fittings ø 1/8"- ø 6 mm

 pressure max 15 bar  pressure max 15 bar
 water temperature max 20°C  water temperature max 20°C
 integrated diode (1N 4007P)  integrated diode (1N 4007P)
 lead connector 6.3x0.8 mm  lead connector 6.3x0.8 mm
 for Coffee machine (DELONGHI) ECOV310AZ - EC155  
 EC300M - ESAM5400 - ESAM5400EX  
 for Coffee machine (SPINEL) DUELUX - MINIMINILUX  
 PINOCCHIO - TOUR - UNOLUX  

    

BRASILIA  00606.4.00.08  BRASILIA  08731.4.00.08

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1331037 |> VIBR ATOR Y PU M P EP8 26W  230/240V 50Hz <|1122735 |> VIBR ATOR Y PU M P EX5 48W  230V 50H z

fittings ø 1/8" - ø 6 mm fittings ø 1/8"- ø 6 mm
 max.pressure 15 bar  pressure max 15 bar
 max.water temperature 35°C  water temperature max 20°C
 with built-in diode (1N 4007P)  integrated diode (1N 4007P)
 connection terminal 6.3x0.8 mm  lead connector 6.3x0.8 mm
  for Coffee machine (EXPOBAR) EXPRESSO
  MINICOMPACT - MONROC - OFFICE
  for Coffee machine (VIBIEMME) DOMOBAR
  DOMOBARJUNIOR - DOMOBARSUPER

    

BRASILIA  11723.4.00.08  BRASILIA  07548.2.00.08

<|1349652 |> 90° F ITTIN G  ø 1/8 F <| |>

    

BRASILIA  06453.2.00.04  

<T2

Water filling taps
T2>

<|1186389 |> G ASKET H OLDER  FO R TAP <|1349027 |> G ASKET H OLDER  FO R TAP
external ø 17/8.6 mm - internal ø 6 mm for water inlet tap

 height 9/5.5 mm  
 for inlet water tap  

    

BRASILIA  18402.0.00.04  BRASILIA  18406.0.00.04

<|1523006 |> NO N-R ETU R N VALVE <|1523401 |> SQUAR E NO N-R ETU R N VALVE
for water inlet tap ø 6.5/12 mm - overall height 20 mm

  for water inlet tap
  for Coffee machine (BRASILIA)

    

BRASILIA  18407.0.00.04  BRASILIA  05595.0.00.04

<T1

BRASILIA
T1>



Suitable for: Suitable for:
<|1523539 |> SQUAR E NO N-R ETU R N VALVE <|1186390 |> TAP  BU SH ING

ø 6.5/12 mm - overall height 16 mm for water inlet tap
 for water inlet tap  
 for Coffee machine (BRASILIA)  

    

BRASILIA  00078.0.00.04  BRASILIA  18405.0.00.04

<|1528036 |> TAP  SCR EW <| |>

for water inlet tap

    

BRASILIA  02000.0.00.04  

<T1

BRASILIA
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

